PsPT
Ne 100308 =29%

Sr. NO. e N

-—--——-——————-——-—-——.

| Seal of Superintendent of Examination
Centre & Signature of Invigilator

NEUT-13 ___Set-A

70 be filled in by candidate b by Ball-Point pen only
Roll Number Serial No. of Answer Sheet

Declaration : | have read and understood the directions given below.

| Signature of Invigilator ......................... Signature of Candidate : ............c.ccccceeene Date : ....cccevvrvennennn |
IName of IVigilator ...........c.occoueeserreee Name of Candidate : ...........ccoecvevereverenn. TiMe e |

—— — — — — — q—-——————-————-——————————————————

: ' Number of Pages in Bookiet * 128 No. of Questions : 200
| ""'".u?r"cn‘?&ﬁﬁm‘ifs""“"'_"—"__qam""';é.'(m‘__'"""l

‘ 1. (a) Candidates are allowed 10 minutes to fillup the basic 1. () vafeidl # N.TH.AR. IR-vie ¥ .yfafsegt I 9m,
i mforl;matson about themselves in the OMR answer sheet A 4. afy v & for 10 fiye 1 owa &y |

{ such as Name, Roll No., etc. ,

' (b) After this, question booklet will be given to the candidates (@) 79 10 frre ® w E“Elwﬁﬁm_gi e < S | S I
they are required to do the following : Frerar Frfad At R |

(i) Examine the booklet and to see that paper seals at

(c) Candidates are not permitted to mark answers in the

the edge of the booklet are intact. Do not accept
the question booklet if sticker seals are not intact.
(i) Tally the number of pages along with no. of questions
printed on cover of the booklet.
{ili) Check that question booklet contains the questions
of all relevant subjects/topics as required a d stated
in the Note and no repetition or omission of qustions
is evident.
In case of any discrepancy please get the booklet
changed. This should be done within 5 minutes of
receiving the question booklet, after which neither
the question booklet will be replaced nor extra time
will be given.
After examining the question booklet please enter
the Serial No. of the question booklet at the appropriate
place in the answer sheet and the corresponding
circles be darkened with Black ball-point pen.

(v)

Answer Sheet in these 15 minutes. 3 hours more will be

Name, Roll'No., Name of Exam, Name of Exam Centre,
Date of Exam and Sr. No. of Question Booklet supplied to
you. Put your signatures also. On the lower half portion of
this page fill in the boxes [] of the first topmost line in
capital letters, your surname and name (in English). Write

(i) m—ﬁmﬁaﬁwﬁmgmﬁmi@élml
FITS! 1 et i T e g v YR wiveR T
(i) TA-gfe 7S A we W e w e w9 |
I8 W & W wEmsl § w S
(iii) m~mﬁwmm/mém%ﬁzﬁﬁw|
T ¥, % Wy it § a1 v gam sifra @ A £
L e T
af gt enté T g ot e wer-yRerwew o1 |
7 FrfATE S ye-gRaw fre @ 5 firre & i |
m%lsaa‘ama?hm-gfmmwmrﬁshﬁl
& srfaftaa wa fen s
m—gﬁaﬂﬁaﬂaa}mm—gﬁaﬂwmm |
Iw-¥Me & sifra %I w& Black ball-point ¥ & weifim |
Thf'ﬁﬂ’h‘ﬁl l
(1) 98en Wiy B & 15 fFE F1 79 orafy § s sifra w0 #
Wﬁ%tmsﬁﬁmmﬁ%fmsu@mmaﬁtﬁmi

(iv)

. (%) SW-¥e B TS 1 FH Tl o e A e w, A, |

ey 1w, wlen $% A, wWen fafe w@ weE- gﬁasmﬁ
G e | S TR R Rt T g e ot |
rRAd TR IRH e S [ @rl § st S dea |
S i 3 T fad i ww O @ﬁﬁqﬁt&m«'
ford, frt wedveh 31aR & I <l sram &t i O #1 Black

~ one letter in each box []. Below each lettér darken with =@ |
Black ball-point pen the circle O bearing same letter. ball-point ¥ J e Fret Nl a7 frd |
(b) Onpage 2 of Answer Sheet fill in your Roll No., etc. by writing (@) SW-¥e % g 2 AW A, ek O T§ wafem
in the [Jand below it by darkening corresponding O. O % 9 Black ball-point ¥ & Fen #{1 I
(c) On page 2 of Answer Sheet only the answers to questions (1) IWM-WE & %8 2 W yrt & I sifFd &0 %. T |
are to be marked. The instructions for this are available way A e 39 weA-gRaw 3 qﬁ@@ ¥
on the back cover page of this question booklet. (=) o wfafizat Black ball-point ¥ Fw o ) |

(d) All entries to be made by Black ball-point pen.

Optical Mark Reader (OMR) machine prepargs the result by
reading the entries made in the circles O with the Black ball-
point pen on page 1 and 2 of the Answer Sheet, hence the
candidate must-be extremely careful in marking these entries

3. stffiese A I (OMR) T IT-¥iie # Black ball-point 37 |
A W A O wt whafed %) Tt WEee FaR 6§, I
el = Taa fr o & 6 S Sw-ve B 7S 1 aatrtl

and must not commit efrors. sfafidl 1 wid wma g0- wrEeeh o wE gl T w

4. Please do not write anything extra except-what is asked for. |1 4. ?ﬂzwﬁdﬁﬂmwmﬂm wﬁ%m@?ﬁﬁl |

5. USE OF ANY CALCULATOR, LOG TABLES OR ANY OTHER 5. %W wir R ar ara v e saesoil, l
ELECTRONIC GADGETS, MOBILE PHONES IS'PROHIBITED. mwﬁq aﬂﬁmmuﬁgt|

6. Rough work should be done on the blank pages provided | | 6. 7o 58 39~ D @AY mm mmﬁwgm |
after each section or Subject. Extra paper will not be supplied. e B T ﬁ% W o

(For instructions regarding marking answers please

|
|
|
I
|
|
|
I
|
I
|
|
I
|
|
|
|2 (a) On page 1 of Answer Sheet in upper half portion, write
I
I
|
|
|
I
|
|
3.
|
|
I
|
|
|
| see the back cover page of thas Quesﬂon Booklet.)

|
|
|
I
|
I
I
|
I
I
I
|
I
I
|
|
given to marking all the answers. :
I
I
|
|
|
|
!
I
|
I
I
|
|
!
|
I
o |

P————————_—_-——————_——_————______—__
N

b e

mmmﬁmym—ggmﬁtﬁ%wﬁa

1

TTNEUT-13—pt




F-7 - NEUT-13—page-2 A-Set




NEUT-13

Time allotted for marking answers of all 200 Questions : 3.00 Hours] ' [Maximum Marks : 200
Tt 200 wot & I 3ifeRd N ¥ errafea W : 3.00 9UR) [3tfereRan 3ia : 200

1.

vy

(For Both B.E. and B. Pharma Course)
- Set-A

NOTE

This paper consists of Three Sections which are as follows :

Section g;is‘tlongo(s)}a:fk - Subject Remarks
A 01 100 | 100 | Mathematics Compulsory
B 101 150 50 | Physics Compulsory
C 151 200 50 | Chemistry/Biotechnology/ Candidates should attempt only one subject which is
- | Biology selected as in the application form.
Total 01 200 | 200

The candidate will have to attempt only 200 questions numbered from 1 to 200 and each question carries 01 mark. All questions
are compuisory. There is no negative marking.

Tally the number of pages along with no. of questions printed on cover page of the booklet. Also check that question booklet
contains the questions of all relevant subjects/topics, as required and stated above and no repetition or omission of questions
is evident. If any discrepancy is found in the question bookliet, the same can be replaced with another correct Question Bookiet.
Before answering the questions please read carefully the instructions printed on the back cover page of the question booklet
and strictly follow them. There is no provision of erasing or changing of the answer marked in O.M.R. Answer Sheet by any
other means, therefore, mark your answers by blackening full circles by black ball-point pen only.

Use of any type of calculator, mobile phone or any other electronic equipment and log table etc. is strictly prohibited.
Candidates to note that their valuation of Section ‘C’ shall be done as per their option of opted in Application form and

accordingly printed in Test Admit Card.
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MATHEMATICS
1. IfsinA+sinB=aand cos A + cos B = b, then the value of cos (A+B),is:

2, 2 |

a+b 2ab
A _— C ——
(A) 2 _p2 ‘ (B) 2+ b2

b® - & 1 9
c | 1.1
(C) Z b2 D@ Z*3

g sinA+sinB=a3RcosA+cosB=ba, @ cos (A+B)FAFE :

A) a? + b2 | g 230
. a® - b? | ®) a®+b?
b2 _ g2 . « 11
————— _+_
©) a® + b? O 2

2. Thevalue of tan 15° + cot 15°,is :

(A) 1 : (B) 3

© 2 O 4

tan 15° + cot 15° wAFE :

(A) 1 | B) 3
F L (©) 2 (D) 4

. 3. The general value of 6 which satisfies the equation 2sin6 + 1 =0, is :

(A) nn—(—1)"§,nel (B) nn-(—1)"§,ne1
(C) nﬂ+(—1)"g, nel - (D) None of these
FHIHTT 2 5in 6 + 1 = 0 T T HIA TTEN O 1 ATIF TH ¥

’(A;) nn—(—1)"§,nel | (B) nn—(—1)"—g,nel
© m+(-1"Z, nel (D) = & e =

- A=Set | TNEUT-13—page-7 O F=7




cos A _ cos B cosC

NEU T—13—pag?é-'é o

,4',. Ina triangle ABC if 5 ‘and side a=2, then the area of the triangle,
T s
(A) 2 units
(B) iz—:-;— units
(C) /3 units
(D) 4 units
g ABG s S50 - 08B S5 gt g et
(A) 27 | |
(B) —‘? T
(C) V3
(D) 4w
The value of tan(2 cos™ -‘/—_—]
3-5 3+«/§
(A) 5 (B) 3
J3+5 - J5
© = G
1 145 ) .
tan[zcos 3 W'HF-{%.A.
3-v5 ’ 3+\/§ i
a = | | ® =
J3.+5 J5
© = ®) 3
CE-7 A-Set




6. An aeroplane is honzontally 2 km above the ground is observed at an elevatron of
60°. If after 10 seconds the elevation from the same pointis 45°, the drstance travelled
by the aeroplane is :

J3-1
(A) 2[ Jg) B) 2(/3+17)km
' lC) %km (D) None of these

@mméﬁaﬁ W@2WW60°$WW%3@TW|HE10@WW
B ST 1 S S o @ 45° @, Mo wew g @ W g ¥ |

| 1

(A) 2(\/\_/-5 )ﬁﬁﬁ (B) 2(\/§+1)ﬁ?‘=ﬁ |
J3-1 .

(C) —\/g—ﬁ*‘q'l (D) ?ﬁﬁﬁs‘ﬂﬁ

7. Equatlon of a line which passes through (a cos® 9, a sin® 9) and perpendrculario the
line xcos 6 — ysint=a cos 20,is:

(A) xseco- ycosece=_2a

(B) xcosecd +ysecO=a

(C) xsece+ycosece=a"

(D) xcosec6-—ysecO= a

TH WS @ H wHE, st fag (a cos® 6, a sin e)ﬁﬂﬁ'{?ﬁ%aﬁtmxcose ysrne'
= & COS 20 % Trr a8, B ¢ |

(A) xsec 06— ycosec 0= 2a

(B) xcosece+ysece=a

(C) xsec®+ycoseco=a

(D) _xcosecO—ysecO=a BERAE

S e
e —
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8. The equation of pair of straight lines which is perpendicular to the pair of straight lines.

ax® +2hxy+ by’ =0, is :

(A) ax’—2hxy+by?=0

(B) bxX*—2hxy+ay’=0

(C) ay’+2hxy+bx*=0

(D) —bx®+2hxy+ay’=0
Wm%@ﬁmwwﬁw%@waxz+2hxy+b}?:o%m%‘,@m:
(A) ax’—2hxy+by?=0

(B) bx’—2hxy+ay’=0

(C) ay’+2hxy+bx*=0

(D) —bx®+2hxy+ay’=0

9. The value of ‘@ for which the lines represented by ax® + 5xy + 3y? = 0 are mutually

perpendicular, is :

25

@ 3 ® 3

© -2 o8

2% g 7T Ry ST 202 + By + 32 = 0 g P Y et v it 2
® 3 ® 2

© -2 o -3

F-7 | - NEUT-13—page-10 ~ - A-Set




10. Fortwo circles, if the distance between their centres is equal to the sum of their radi,

then the number of common tangents exist for the system, are :

(A) 2 | (B 3
(C) 4 (D) No common tangent exist
, oo @ B B e g o A R B B A B R &, A 7 e B o ks
et st % wEn ¥ - a
' A) 2 b ' (B) 3
(C) 4 | (D) % s v Y 7

11. If y= x+ ais tangent to the parabola y? = 4(x + 1), then the value of a, is :
@ 1 ® 4
(C) -1 | D) 2

ﬂﬁy=x+a,‘Wy2-.m—-4(x+1_)?@5?@1%‘,@‘3#1'%%:
* @1 B 4
) -1 | e (D) 2

12. Ifthe line ax + 4y = 36 is tangent to the circle »° + y* = 36, then the value of a, is :

(A) x4 ®) 25

©) =5 | | (D) =3
zn%%@ax'+4y=,36,qm2+f:’sswwsﬁ@%,aaémm%:
(A) x4 (B) =25

(©) =5 | (D) +3

‘A=Set ] “NEUT-13—page-11 - F-7
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13. Angle between tangents drawn from the point (5, 4) to the ellipse —z—é— + %’—6— =1 is :
n T
A 3 ® 7
T T
© 3 D 3
X2 yz |
SEC —2-5-+T€-—1 T fag (5, 4) | Wit et el el & A A R
T | . n
A 3 : ® 5
T T
© 3 © 5
. . . w2 2 ~
14. The angle between the asymptotes of the hyperbola 3(_2- _XE =1,I8:
: a b
_1( b _1{ a
2ta 1(—) t 1(_)
(A) "2 @) tan”|
2t “(3) = (2)
(C) an b (D) tan p
, ‘
SfroREeT X—z_z—2‘1 it T TR & Ao o R
b a e
2tan 1(~j . | - (_)
(b
2 ‘U x )
an b | (D) tan p
F-7 | ~ NEUT-13—page-12 "A-Set




15.

16.

17.

2 2 2

i ' X2
If the foci of the elllpse —— _y__ =1 andthe hyperbola X y_1 coincide, then
16 p2 - 144 .81 .25. .

the value of b2 is :

Ay 9 (B) 5

© 12 (0 7

a-dq—‘-;__+L="aﬂ(31ﬁrqm—)(-2——ﬁ 1-q'$r=nﬁmrwm°r€r-chb FUAY
2 S 144 81 25

(A) 9 o (B) 5

© 12 o (D) 7

The locus of the middle points of those chords of the circle X2 + y? = 16 which subtend
a right angle at the origin, is : |

A) ¥-y=0

(B) R+)2=8

(C) 22+ =4

(D) X+ Y= 4

qax%yz, 16ﬁmﬁm@%mﬁ§aﬂwﬁ§qawﬁwﬁgmwﬁwwﬁafﬂ?ﬁ% |
&

(A) $-y?=0

(B) X¥+y?=8

©) 2% +y2=4

(D) x2_+y2=4

Centre of the conic 16)2 + 25)? — 32x— 100y~ 284 = O'is :

A (1,2 . (B @
(©) 1,2 - D) (1,-2)
HT 16x° + 25)7 — 32x— 100y~ 284 =0 H HK T :
A) (1,2) B) (2,1)
© 12 . © (1,-2)

ae e e i




18 mmmmnmwsmﬂmeax+by+cz+d Oax+@y+%z+%=0w¢

19.

(A) a,b,—-ba, bc,—

(B) b,b,- c.c

12’ 172

(C) b,c,-cb, ca,

(D) a,a,+b,b,+c,c,

tmax+@y+qz+¢=03x+by+cz+d

(A) a,b,—b,a, b.c,-

(B) b,b,-c,c, c.c,

(C) b,c,-cb, c,a

1720 T2

(D) a,a,+bb,+c,c,

q%,cd dc

—-a.a.,, a1az——b1b2

172

—-c.a @%—q%

271

bb+cc+dd cc+dd+aa

=0 % R sgua ¥

172

q%,q%-m%

—Q%,Q%—Q%

-c,a ab—ba

2717

bb+cc+dd cc+dd+aa

172

The co-ordinates of a pount in the xy, plane which is equidistant from the three pomts

A,BandC whose posmon vectors are I, ]and K, is :

(A (1,1,0)
(B) (0,0,0)
(€) (0,1,0)

(D) (1,-1,0)

xy wweE # e fr, S i fagsii A, B @ C fomad feafa afger s :/Wk% YEFE AW

&, & fdwie €
(A) (1,1,0)
(B) (0,0,0)
© (©,1,0)
(D) (1,-1,0)

F-7
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20. Theyz plane divides the line segment joining the points P(-2, 4, 7) and Q(3, -5, 8) in

the ratio :

A) 2:3 R B 1:2

(C) 2:5 (D) 3:4

fagati P(-2, 4, 7) 7 Q(3, -5, 8) %! fie a1 Yemavs #) yz gaae feg smam § fawfer
. HEE ? | ,

(A) 2:3 | B) 1:2

(C) 2:5 | D) 3:4

21. |Ifthe plane x + ay + z =5 has equal intercepts on axes, then the value of a, is :

(A) 5 , (B) 1
1
© 3 ©) 2
A T X+ @y + 2= 5 A TR @0 T L, N aF A :
® 5 o @1
1 |
© 3 ©) 2

22. Ifthe sum of squares of distances of a point from the planes x+ y+ z=0, x— z=0and

x—2y+ z=0is p?, then locus of the point is :

A) R+ R=pP (B) R+2xy+ )P+ R=pP

C) x+y+z=p? (D) ¥+yP+2=p*

w fag 1 G X+ Y+ 2= 0, Xx— 2= 0qM x— 2y + z=0 ARA B T A p° &, A farg

FHfagua ¥ : . ‘

A) @+ R=p? (B) R42xy+yPrRap?

©) x+y+z=p# () #+y+F=p B
A-set | NEUT-13—page-15 | F—7




23. Distance of the plane 2x + 2y — z=5 from the point (1,2, -3) is :

™ s  ewm

o4

(C) 3 - (D) None of these

guaA 2x+ 2y —z=5®H fag (1,2, -3) AU :

(A) 3 . (B (14

; 4 .

© -3z | (D) T | T
, 1 4- 4 4 z+1
24. Angle between the lines X0t =¥*3 _4-Z X-4 _y+a_z+1 5.
v 2 1 : 1 2 2

(A} cos™ fl—)
o WG

o) s3]

(D) cos™ —)

(C) cos

| }(D) cos”

(B cosT —)

8.
9

3
2

9

i‘@Taﬁ X+1_y+3 _4-z e X-4 y+4_z+1
2 2 1 172 T2

@mmaﬂm%:

(A) cos” —)

©o|lm®

(B) cos™

i
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25, | If & and 5fare unit vectors anl'}d’ 9 is angle between _them, then :
(‘A)‘ 00392— %I -b| (B) su% %]é—tﬂ
@) tang=%/|é‘l+5| (D) cotg %léfé[
w&éa\xaswm%@iéﬁmmem;

(A) co—g- %é—f)l (B) sin%:%lé—ﬁl‘
©) tang % a+b| ©) cot—g- %|é+5|

26.

o itk
™~z
Pejek

V5

©

‘The unit vector which is perpendicular tothe vectors 2,

_j+k and 37 +4] -k, is:

-3 +4] -3k

(B) N

3/ +5]+11k

i 55

(D)

el o7 — j+ k 9K 87 44—k P o g ARAE

“iejrk 37 +4] -3k
(A) \/—— ® — 7
f+]+R —3f+5i+11l%
) J5 ©) J155
A-Set NEUT-13—pagé-17 F=7'
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27. 1fOP = X4i + 4] + z4k and OQ = x,i + yo] + Zok , then direction cosines of PQ are::
1 11 | o
@) X=X Y2-Y1 Z2-2Z ®) R CRE A
c Xo—X1 Yo—Y1 22-241 D) - PQ__PQ PQ
( PQ ' PQ ' PQ ©) Xo=Xy Yo—Y1 Z2—24
) = ” " ~, > - [ ~ ey -
A OP = Xqf + y4f + 2k T OQ = Xpf + yof + 2ok , A PQ &t e Foamd ¥
1 1 1 »
B =X Va-yi za- 24 B) X=X, Y=Y 2~ 2,
c Xo—X{ Yo—Y1 Zo—24 D PQ PQ PQ
© “pa "Pa '"Pa O X =x yo-yi z2 -2
-
28. Direction of a reciprocal vector of a vector a, is :
—
(A) same asthatof a
—
(B) oppositeto a
. -
(C) perpendicularto a
(D) none of these
S5
gfew a & =ohn afcw +) fawn St
. ,
(A) a =t e = w9
-
(B) a = fawn = fawdia
N .
(C) a = e = wvaEq
(D) T & = T
—Cam S
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29,

30.

~

(C) i-2j+k

—>
If a =

- > o> >

_)
b +

e

(A) 2a-(b+c)
B) 0

-»> 3> o

(C) b-(a+c)

(D) None of these

e

A 2a-(b+c)
®) 0

> 5 -

(©) b-(a+c)

(D) v & =g e

-> " n n a
Themomentofforce F =/ + j + k actingata point A =/ + j about the point

—>

9 ~ ~
O=j+k;

B) i-j+k

(D) i+2j+k

=i+ ] WHERRY ¢ * fog 8=]'+/2 %mﬁ&m@ﬁ%:

B) i-j+k

(D) i+2j+k

c,then a-(bxc)isequalto:

A-Set
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31.

A force F =2i - 3] + k is acting at a point A(1, 2, -3) on a rigid body. If point A is
diSpIaced to point B(2, 0, —5), then the work done by the force, is :

(A) 10 units , .

(B) 8 units .

(C) 4 units

(D) 6 units

T F = -2/ -3j+k T fvs & fag A(1, 2, —S)WWﬁa%lqﬁfﬂiA ﬁFg
B(2, 0, —5) e Tereenfia feran wman &, 6 &t g fran T i ®

(A) 10 T

(B) 8 wehral

(C) 4 wrdl

(D) 6 werreal

N N
If a and b are the position vectors of the point (1, —1) and (-2, m) respectively, then

the value of m, for which Z and b are collinear, is :
(A) 2 |
(B) 4
(C) 3
.

® 3

z‘r&‘ 2 iR b www: fga (1, 1) 7en (2, m) & feerfer wfiw &, & m a0 7% 7 ford forw
afw a ok b 'Hi‘@% T

(A) 2
3 (B) 4
. (© 3
< (D) 1
5
?f " NEUT=13—page-20° A-Set




33,

34.

It logg.2(X —1) <10go.4(x —1), then:
A) xe(24)

C) xe(12)

7t |d'go.2(x —1) <logg.4(x ~ 1), 3 :
) xe4)

©) xa(12)

Domain and Range are equal for the :

(A) Constant fuhction _
(C) Identity function

i a?‘rz PR S AR %
A) TRETR

(C) waws ®eH &

(!_3,);
(D)

(B)

D)

(B)
(D)

X e (02, 04)

"X € (2, )

x €(02, 04)

X € (2, o)

One-one function

Onto function

Tha! B B

o e,

~ NEUT-13—page=21

35. Iff (X)‘ —, then the value of f[f(x)] is
1
@ x ® 5
‘ A 1
(C) -X (D) __)_(_
_qﬁ\'f(x)=%—i—i€bﬁrf[f(x)]wm%:
o ® %
. 1
© -x ® -5
A—Set =




36.

37.

1

The value of lim [tan[%+xjﬁ| *is:

x—0
A) -:; ‘ B Je
©) e D) &
1 |
lim {tan(£+xﬂx HIHAR :
x—0 4
1

@ S ® Je
©) e - D) €

2x+a , x>1 .
Ifthefunction f(x)={ b , x=1 iscontinuous at x=1, then the values of a and
C |Bx-2 , x<1. - |

- bare:

(A) a=0,b=2
(B) a=1,b=3
(C) a=-1,b=4
(D) a=1,b=2

2x+a , x>1

A HH f(x)={ b , x=1,x=1REME, MaMbHAFE:

5x-2 , x<A1
(A) a=0,b=2
B) a=1,b=3
(C) a=—1,b=4
(D) a=1,b=2
F7 NEUT-13—page-22 A-Set




1
xMsin— , x=0
S~

38. Forwhat value of m, the function f(x) = ‘ , is differentiable at x= 0:

0 , x=0
(A m=0
(B) m=—1
(C) m#*1
(D) m>\1

' 1 :
m'&‘»mm‘%mmﬁf(x):{x,ﬂsm; , x#0, X=0 T IEFAATE :

0 , x=0
(A) m=0
B) m=-1
(C) m=1
(D) m>1
2 2 . 1 a4 4_sp2 1 dy . _
39. If x“+y°=t t,x +y* =t +t2,then ax is equalto:
' BR | h
(A) ny3 ‘ - (8) X3y
S | 1
(C) X3y , ‘ 3 (D) ‘ X2y2
2. .2 4 1 ‘4 ’4;»2 1 .4dy )
afg X +y —t‘_t,x +y* =t frtz,?h dxw%.
A 1 _ 1
.3 B) T3
(A) xy_3 g : B) ¥y
1 1
€) X3y | (D) x2y2
A-Set NEUT-13—page-23 F-7

e - - [N e e e A el ot ot e




. o)
40. If (cosx)” =(siny)”, then —a‘% is equal to :

loge(siny) + ytanx
log.(cos x)— xcoty

loge(cos x) — xcoty
(B) logg(siny) + y tanx

loge(sinx) + y cot x
logg(cos y)— ycoty

(€)

loge(siny)+ xtany
loge(cos x)—ycotx

(D)

afz (cosx)? = (siny)* @, % T

loge(siny) + ytanx
( log.(cos x) — xcoty

loge(cos x) — xcoty
(8) loge(siny) + y tanx

loge(sinx) + y cotx
logeg(cosy)—ycoty

(&)

logg(siny) + xtany
(D) loge(cos x) — y cot x

41. If a particle is moving in a straight line. whose equation of motion is given by

s =13 —6t% —15t, then the interval in which velocity is negative and acceleration is

positive, is : :
A) —-1<t<2 B) 5<t<10
(C) 2<t<5 (D) None of these

7 TF FO TH G T F M B G 5 =10 — 612 — 15t B AR M F@ E, N A%
IS FH AT SoIees Qe T YAH §, BN ¢

A) -1<t<2 (B) 5<t<10
- (C) 2<t<5 (D) TTH J HIE TE |
F-7 NEUT-13—page-24 ’” A-Set




42. The function 3sinx - 4sin® x is increasing, if :

(A) —g—<x<1r

T n
—_— X —
B F<x<3

(C) 32—n<x<'21r

T T

—— X —

(D) 6 <X< 5
e 3sinx -4sin® x adaE , af

(A) g<x<n
(B) —g-<x<g

(C) 3—;—<x<2n

(D) ———<x<€

43. The height of a cylinder of maximum volume inscribed in a sphere of radius a, is :

(A) % units (B) 7‘% units
(C) J3 aunits (D) 2aunits

a foren & T % siwta Sfwes ST At Ao H I ¥

2a a

(A) NS ?ﬁﬂ‘f | B) Nl T
(C) V3awmd (D) 2aw®
CA-Set NRRT-13—page-25 T F7




44. For the function f(x)= x3 - 6x2 +11x -6, Rolle’s theorem is true in the interval

x €[1, 3], then the value of C of Rolle’s theorem, is :

| 1
(A) 2 B 275
1 2
(€) 11‘\/_§’ ’ (D) NG
T f(x) = X3 ~6x2 +11x -6 % fow o x e [1, 3] A A F AR AA &, A A g B
CHIAAR | |
1
(A) 2 , (B) 2i—\/—§-
1 2
14— Sl
(®) +\/§ (D) NG
45, J'ex—1dx is equal to :
(A ginh~! /ex_1+C (B) [\/ex—1+tan‘1\/ex—1}+c

(C) 2{\/67—;1+cot’1\/;;j]+0 (b) Q[J;}j_tan—1\/;7:]}+c
Ixfé_"jdxw%:

A snheF—1+c  ® [m+tan~1m]+c
(©) 2[\/;;:%0*’1\/;"_:}0 (D) 2{ e’.(—1—tan"1s/;‘j}+0

7 NEUT-13—page-26 ~ A-Set




46. | dx isequalto:

B A o = Ao -

5+4cosx _ ’
2 -1 tan(x/2) 3, _1{tan(x/3)
(A) 3cos (—————3 ]+C (B) —2—tan (——3—— +C
2, 4 tan(x/2)) 2 tan(x/2)
Zi — Az = = —_—
C€) gtan ( 3 +C', (D) Flogl—F5—|+C
j———l———dx T E
5+4cosx
2 1 tan(x/2)) 3, _1ftan(x/3)) ~
(A) 3cos (———3 +C (B) 2ta.n —5 +C
2, 4 tan(x/Z)J ' _ 2. (tan(x/2)
i b Sl end 4 z Rt St A
(C) 3an [ 3 +C (D) 3Iog 3 +C
2
1
47. j;;x:—)%-;dx is equal to :
1. o x2-1 X217
A) —tan +C B) sin +C
® B J§x~] ® (@x
‘ 1 -1 J3x ) | 1 -1 X2+1\
. C) —=tan +C D) ——=tan'|~——|+C
© x/§ ;M,\x2—1J ' ©) x/§a» («/gx +
2
X< +1
ax s
'[x4+x2+1 ¥
1,0 4 X2~1\ .9 x? -1
A) ——=tan" +C B) sin +C
@) 3 N3x ‘ ®) » [\/gx e
14‘;:\ 11~ v3x , 1 -~ -1 X2+‘1
—tan - +C D) ——=tan'| ——|+C
© & x2 -1 © 7 (\/§x J+
A-Set ' NEUT-13—page-27 F-7
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48. The value of lim Kul)(ng)[nﬁ) ..... (1+ﬁﬂ" is :
) n—o n n n n

(A) e

1 |
49. The value of Le"(' dx is :

(A) 2(e-1)
(B) 2e-1

1
C) e~

D) e+1
Le‘"‘ dx HIOHE T :

(A) 2(e-1)
B) 2e-1

]
C) e-2

(D) e+1

F—7 NEUT-13—page-28
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50. Thevalueof'()2 XSin 2n dx,neNis:
sin®" x +cos :
(A) =
(B) 2=
(C) n?
T
© 3

51.

r xsin®"x
f sin®" x + cos?" x
(A) =
B) 2n

©) n*

dx,neN F1HAY :

(D)

STER

If Ixtan de av1+x2 tan™" x + blog(x +V1+x2) +¢, thenthevaluesofaandb

\/1+x

are:

(A) a=1,b=-2
B) a=2 b=-2
(C) a=1,b=2
(D) a=1,b=~1

Erfﬁ_[Xtan de avi+x2tan' x + blog(x + V1+ x2)+c &, Mask bR am ¥ :
Vi+x2

(A) a=1,b=-2
B) a=2 b=-2
(C) a=1,b=2
D) a=1,b=-1

NEUT-13—page-~29 F-7




95loge X e4ioge X :
— dx is equal to:
52. eSIoge X eZIoge X :

3

X
Al —+¢C
(A) 3

(5/4)* .\ (3/2)*
log(5/4) log(3/2)

(B)

(C) xlogx+x+c
X X
(p) (%) log x + (g) logx +c¢

65|oge X _ e4loge X
e3loge X _ g@loge x

}dx R T

3

X
Al —+c¢
(A) 3

(5/4)* N (3/2)*
log(5/4) log(3/2)

(C) xlogx+x+c

(D) (%J Iogx+(-§j logx +c¢

(B)

- 53. The area bounded by the curve y = 4x(x - 1)(x ~2) and x-axis, is’:

(A) 4 sq. units (B) 10 sq. units
(C) 2sq. units ' (b) None of these
TH y = 4x(x ~ 1)(x —2) T x-218 GRI UG & FT G5 3 :
(A) 4o T (B) 10 = gohrd

(C) 2=fgm | (D) wd @ ¥ 7

“F=7 . NEUT-13—page-30 “A-Set




54. The area bounded by the curves y =|x|-1and y =—| x| +1is:

(A) 2 sq. units (B) 2sq. units
’ 1
(C) 4sq. units (D) 3 Sa- units

TRy =| x| =189 y = —| x| +1 5R g & H AL

A 3 = T (B) 2 v
©) 4wt g D) o e

55. The differential equation of rectangular hyperbola whose asymptotes are xy = c?,

d
(D) XEI%(/—H/:O

) : mmmﬁmwﬁﬁxy=czﬁwmm%:

Ay ——-xy=0

®) x L -y=

NEUT-13—pages31 ) TF7




56. The differential equation of family of circles of constant radius is :

2 28 9 N2
ay _ 2 9'_21 1 (Q_j _2/ 9y
() 1+ =2 [dxz) ®) [* dx e
2
d?y ay V| 2 d?y (dy ¥ _ .2
© ‘JF{‘(E;” - o S5 -2
feor foren & il & HW 1 AHT THHO S ¢
' 2 2713 5 \2
dy _ o[ d% (zz) 2|9y
(A) 1+dx—a [dxz] (B) [1+ o a ‘dx2
2 : '
. d2y dy 2 d? dy
© 'JF{H(E)?” o Gr{a) -

3

2,32
57. Degree of the differential equation ay +x2 (1}1) =e¥is:
dx? dx

(A) 1
(B) 2
) 3
(D) does not exist

3

e T (g—z—-zy—]erxz(g}i):ex HUE Y
ax ax

(A) 1

B) 2

C) 3

(D) s & &

F-7 NEUT—IB‘—pa§e¥’32 B A-Set
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« 2, 5
58. The order of the differential equation 9—1—5(1}—/-)2 =sinx, is:
: dx2 ax

(A) 2
®\) 7
C) 1
(D) does not exist

7

2 5 ,
SRR m’-g——{——s(gﬁ)z =sinx FHAT
X

(A) 2
B) 7
©) 1
(D) e T @

| y |
59. Solution of the differential equation E)}% =@x+y+1?is:

4x+y+1
(A) log(4x +y +1)»= X+ (B) tan(_é!:_) =X+C
(©) cor’(.‘.‘i*z_y_ﬂ):“(: - ©0) _;;tan”'(fx—%!—ﬂ}xw

d ‘ .
SAHA THHT a%=(4x+y+1)2 FEAL:

4x +y +1 .
(A) log(dx+y+1)=x+c (B) tan — =X+C
() cot™ (Mj =X+C (D) —;— tan™' (——————4)( +2y ks 1) =X+C

A=-Set | NEUT-13—page-33
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60. Solution of the differential equation g~ *X*¥

A) & =e*+c
(B) & =e"+c
(C) eV =e¥+c

(D) e =e*+c

STTHE GHIHT e—xﬂ’%}iﬂ HEAR :
X .

(A) & =e"+c
B) e =e*+c
C) eV =e*+c

(D) eV =eX+c

E}j=1 is:
d

61. Solution of the differential equation d—y=x+sin(x) is
. oluton O e dirrerential equatl dx X | x .
Yy X y
@ oo ]+ <o %)
Yy y
tan| — |= -cot{ = |=cx
(C) an(zx) CX (X)
STHE THIHT d—y=—+8in(z) HEAT ¢
dx x X ’
y X Y
I z — = =
(A) og(x)+y ()4 cos[x) cx
Yy Yy
t —_— = —_ t —_— =
(C)} an(zxj CcX coO (XJ CcX
F-7 'NEUT-13—page-34 A-Set




: . o dy X+ Y+
62. Solution of the differential equation -2 = ——2 __ is:
' equatl n,dx 2x+2y +3 -

(A) 6y-3x +-|og(3x +3y+4)=c
(B) 6x-3y+log(8x+3y+2)=c
(C) 6y-3x+log(2x+2y+3)=c

(D) Solution does not exist

dy X+y+1
sEFa R L =" 7 g
v dx 2x+2y+3 &

(A) 6y-3x+log(8x+3y+4)=c
'(B) 6x—3y+vlog(3x+3y+2)=c
(C) éy—SX+log(2x +2y+3)=c
(D) = =1 ifeae & &

63. Integrating factor of the differential equation xlogx% +y=2logx is

A *

1
® =

‘ (C) &
(D) - log x |

STEHE FHEH xlogx%+y=2|ogx 1 GHHTH T[0T ¥

(A) X
:
® -

(C) &
(D) log x




64. A bag contains 3 white and 5 black balls. If two bails are drawn at random, then the
odds in favour of both balls being black is :
(A) 9:5 (B) 5:9
(C) 2:5 (D) 4:9
T ¥ § 3 R TE 5 el 11 e i €1 afs 2 7 agiese w0 et S €, @ S AR et
B & 987 B AU ©
(A) 9:5 (B) 5:9
(C) 2:5 (D) 4:9
65. A, B and C are participating in different competitions. If the probabilities of getting
2 1 5
success of A, Band C are 58 and 3 respectively, then the probability that at least
one gets success, is : '
A
A 35
31
®) 35
257
© 35
(D) None of these '
A, B 3R C fr=-for= wieifiredi 9 wm o €) =i A, B wd C & d%el 87 %t Wifehard %A
2 1 5
=g ™y %, N0 A Y E & THA o1 H WiFwa
A) -
(A) 35
31
B 3
257
© 330
(D) ¥ & *%E T |
F-7 = " NEUT-13—page-36 -~ A-Set
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In a single throw of two dice, the probability of getting an even number on the first dice
oratotal of 8, is :

5 5
A 3 . B) 35 -
3 , ,
C) 36 (D) None of these
3 Uil F1 THA B (single throw) T Tger 91 W TW 37 o1 ST F1 M 8 o1 Y MiTwAT ¥
5 : 5 |
W 3 o ® 35
© - 0) ¥ 2B
67. AandBare indépendent évehts andif P(A)=0-4, P(B)=p ahd P(AUB) = 0-6, then
the value of pis :.
3 1
A) 5 ® 3
(C) g ’ (D) cannot be datermined
A SR B @ e €)1 A P(A) = 04, P(B) = pA P(AUB) =06 &, R pFT WA B :
| 3 | 1
A = ® 3 |
(C) g (D) fauif =€t faman < wepen
68. The number of minimum series, necessary for correlation, is -
(A) 1 ‘ (B) 2
(©) 3 - D 4
wEawry % fou st :’fm Siforall =t v ¥
(A) 1 (B) 2
| (C) 3 I SRNIT SSIERR | (D) 4 . .
A-Set B | Nm-is—pagé 57 - F-7




69.

70.

—

The standard deviation of the Binomial distribution is :

(A) np _ B) nq
©) © (D npg
fe sie o A foaer

(A np (B) nq
©) o (D) npq

If the correlation coefficient is zero, then the regression lines are :

(A) Perpendicu!ar

(B) Parallel

(C) Coincidence

(D) Inclined at any angle

I TewwrY TN I B, T FATITE [ e
(A) w=Eq

(B) AR

(C) ol

(D) gt off yor 0T bt &2

71. The order of convergence of Newton-Raphson Method is :
® 2 ® 3
(C) 4 (D) None of these
~JeA-TreA fafy & o R §
A 2 | N ®) 3
© 4 (D) i & = =t
F=7 NEUT-13—page-38 A-Set
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72,

74.

First approximate solution of y4 _ 125,70, nearer to x = 2, by Newton-Raphson .
method, is : |

(A) 204 (B) 205

(C) 2:06 (D) 2-045

- faftr & Wit x4 ~12x+7=0 F I ATHA T A x= 2D P A, ¥
) 204 @ 205

(C) 2:06 ' (D) 2:045

Using false position method, the interval in which the real root of the equation
xilogwx—1~2=’0v, lies, is : : - o |

(A) (1,2 (B) (-1,2)

©) (253 (D) (3,4) | o

faean feufa fafy gro gfiaor xlogyg x ~1-2 = 0 =1 Ao 7ot Fretferfiem # & fra st
Fdm 2 | I

@ (1.2 ®) (-1.2)

(C) (2,3) (D) 3,4

Using Bisection method the interval in which the real root of the equation

,x4+2x3—x—1=0 lies, is:

® 1.0 @0

© @3 ©) [0,1] | |
fviror fafty =yl e QW x4+ 2x° - x ~ 1= 0 1 o o fhw s d
B 2 |

(A) [-1,0) ® 2

©) (23 O o1
A-Set NEUT-13—page-39 . F=7




1
75. In Simpson’'s ‘5’ rule the number of intervals should be :

(B) Odd
(D) None of these

76.

(A) Even
(C) Prime

ﬁmm@‘-;-’ T H oTaueh H e g e

(A) €H (B) fawm
(C) 3y (D) ¥ Q=g T
For the following data :

x 1 1-5 2 25

f(x) 21 2:4 2:2 2:8

. 1 .

the value of ff(x)dx, by Simpson’s 3 rule, is :
(A) 4975 (B) 10-1
(C) 505 (D) 6-06

forr % S & g Pty aes

x 1 15 2 2:5
f(x) | 21 2:4 2:2 2-8

3 for ff-(x)dx FTHA Y :

(A) 4975 (B) 101

(C) 505 (D) 6-06

In Trapezoidal rule the curve y =f(x) is considered as :
(A) Straight line

(C) Parabola

(B) Circle
(D) None of these

fsigea Frm A 9% y =f(x) AT TR

(A) ¥ Y B) T

(C) wae™ (D) T | FR T , |
F-7 A-Set
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78, Which one of the following represents the Simpson’s ‘" rule ?

3
» X0+nh

(A) _f dezh[ Vo+Yn)+(V1+ Yo +oouene +yn_1)}

Xo

X0+nh ~
‘ 1 4 2

(B) j ydx ~ h g(yo+yn)+§(y1+y3+ ....... +Yn—1)+‘§(Y2 +Y4 -+ +yn_2)}

Xo - .

Xg+nh

3 9
©) [ yax=h g(}’o+}’n)+§(}’1+}’2+}’4+}’5+ ----- +Yn-1)+

L4 Xo

(D) None of these
ﬁmﬁf&aﬁﬁaﬁwgﬂﬁwﬁ‘%'ﬁmaﬁmm% ?

Xo+nh " I

(A) j dezhLE(yo+yn)+(y1+y2+ ....... +y,,_1)}

Xo

Xg+nh B 4 5

(B) J. ydx ~ h 5()’0 +Yn)+§(J/1+Y3+ ------- +J/n-1)+‘§(}’2 TVat.... +Yn—2)]
Xo - .

X0+nh -

3 9
© | yox=h ot yn)t St ye+Yatystoty)+

* X0 -

(D) T I =K Hﬁ
79. The objectlve function of a Linear Programmmg Problem is :
(A) a polynomial (B) an equation
(C) an inequality ' i (D) None of these
e ST TEE %1 Seed Fe AR
(A) TFagas (B) T wHEU
(C) 'qa»‘.amﬁ?m THehT ' (D) T7H q ®IE TE
A-Set NEUT-13—page-41 F-7




80. The main parts of linear programming problem are :
(A) 2 (B) 3
(C) 4 (D) 5
Werer WM TSN § IET AR T
(A) 2 B). 3
(C) 4 (D) 5
81. The optimal solution of the linear programming problem
Max Z= 60x+15y
s.t. X+y <50,
3x +y <90
x,y,20
is :
(A) x=0,y=90 (B) x=20,y=30
(C) x=30,y=0 (D) Solution does not exist
e TamT gee ‘
Max Z=60x+15y
s.t. X +y <50,
3x+y <90
x,y,20
T TAH TA X ,
(A) x=0,y=90 (B) x=20,y=30
(C) x=30,y=0 (D) ot o1 sif & ¥
82. In solving the linear programming problem by graphical method the-region satistying
all the constraints, is : ,
(A) Concave set of feasible solutions (B) Convex set of feasible solution
(C) Both (A) and (B) : (D) None of these
et Yaer IR gme ) IRt fafy @ gat o R aet gfaesl o Haee e amen 89 ST e
(A) G Tl T STAE GHEAT (B) TEA T I I AT
(C) (A) ¥R (B) S (D) ¥ A = T
F-7 | NEUT~13—page-42 A-Set
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83, The smallest positive integer n such that Gf—'j =1,is:
S : -1

A 2 (B) 4
©) 8 (D) 12

it e e ot n, P e (11—

SN VI ® 4
(C) 8 (D) 12
2z 51-22)
84. If 32, is purely imaginary number, then the value of Z4 4.2 ,is

: 2
® 1 | ® 3
o 2 - 7
© 3 (D) 3
' 2Z 22 :

141‘332 @wmﬁmm%?ﬁ z, +22 FAAE :
‘ 2
(A 1 ® 3
3 7
. © 3 0O 3

85. If complex numbers z,, z, and 0 are vertices of an equilateral triangle, then the value
2,52 o
of z+2z,-2z2z,)is: o
(A 1 o B) z+z,

©o ) o 2 .-
ﬂﬁﬂfﬁwﬁ@ni.zv Z,MMOTFH weg m S M &, A 22+ 22—z 2z MAAT:
@ 1 | B) z,+2, |
) 0 - (D) 2
A-Set NEUT-13—page-d3  F-7
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86.

87.

1+3i )

The amplitude of B

3n
)

© -4

1+3i .
\/§+I' WW%Z

3
A

© -4

,is:

Hia

(D)

ola

&iA

(D)

oA

log,2, log,2 and log, ,2 are in :

(A) HP (Harmonic Prog

(B) AP (Arithmetic Prog

ression)

ression)

(C) GP (Geometric Progression)

(D) None of these
log,2, log,2 #R log, ,2 ¥ :
(A) TEE S H

(B) Tu=R 9 H

(C) TR A

(D) = | % T

F-7
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‘ 1 1 1 11 1
. Ifa, b, in Harmoni i o vz b e [ | — o ——
8¥ a, b, care in Harmonic Progression (HP), thenthevalueof(c P b)( b o a),’;

s '_ .
2 1 3 2
. <1 o &
A) 2" B g
o~ 2.1 , s8_2
©) 5 Y - B 2T
: 1t 1\(1 1 1
it a, b, cETE SR HE, D —+————J —+——— | FEAAY :
c a b/)\b ¢ a
N 2.1 3. 2
A 26t ®) 2 %5
2,1 s_2
) 3x2 +9x+17 )
89. If xbe real, then the maximum value of 5 _,is:
3x“+9x+7
17
(A) =
7
(B) 17
(C) M
(D) 1
| L 3x249x+17
At x e ¥, W —— 1 SR M &
' 3x°+9x+7
‘ 17
(A) -
7
®) 37
(C) 41
(D) 1
F-7
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90.

91.

92.

o B :
If o, B are the roots of the equation X* + x+ 1=0and - » g are roots of the equation

B
X2+ px+ q=0, then the value of pis :

(A) 2 | @ 1

©) -1 | (D) -2
Erﬁ;'ﬂtﬂmxz+x+1=0${aa,ﬁ%wmﬁ+px+q=0%1{a%,gﬁf,ﬁ’rp‘eﬁl
R

(A) 2 (B) 1

(C) -1 | (D) -2

5
47 52-r
Cs+, Cs is equalto:

r=1
(A) 52(:5 (B) 5203
(C) *c, (D) °2C,

5
Cy+Y %7"Cy e R

r=1
( A) 52C5 (B) 52C3
(C) 53C4 (D) 5204

Total number of ways in which six ‘+ signs and four ‘' signs can be arranged in a
line such that no two -’ signs occur together, is

(A) 42 (B) 24

(C) 35 (D) 105

: 4’ fag 9 =R — g &) T W § e fhan altel 3 SR 1 | § aifs < g are
T8 : ' S

(A) 42 (B) 24
(C) 35 (D) 105




; o2 3 10
93 The middle term in the expansion of [—g— +—J is:

) 2x?)
- (A) 252 | (B) 260
(C) 274 (D) 450
[2x? 3 0 ,
(—+——2J R drmwHmam
3  2x
(A) 252 (B) 260
(C) 274 - (D) 450
94. Iflog, (3x— 1) < 1, then the value of x lies in the interval :
1
- (A) (2,9 (B) (5' 2)
1 : ' '
(C) (0, 5) ) (D) None of these
afs log, (B8x— 1) < 1 &, T x =1 9 for st & @ 2
1
(A) (2,4) ~ (B) (5' 2)
~ 1 X
(C) (0' 5) } (D) 3T 9 ®iE T&
_ x+1  2x 3x
95. Hax+bR+cx+d=|2x+3 x+1 _ x |,thenthe valueof dis :
2-x 3x+4 5x-1
(A) 0 ‘ B) 2
(C) - (D) 3
- x+1  2x 3x
adat+bC+ex+d={2x+3 x+1 x (@, AdwaAY;
2-x 3x+4 5x-1
(A) 0 | (B) 2
(C) -t | (D) 3
A-Set NEUT-13—page-47 F=7
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96. If the system of equations :
2rx-2y+3z=0
X+ry+2z=0

2x+1rz=0

has a solution in which x, y, z are not zero simultaneously, then the real value of ris :

(A) 1 - (B -2
C) 2 - (D) 3
CicauRECIR)
2rx—2y+3z=0
X+ry+2z=0
2x+rz=0

w1 TF 7 & o X, y, Z Y- I T €, @ ok anefas 91 ©

(A) 1 (B) -2
(C) 2 ' (D) 3.

97. Forasquare matrix A =[a], a,.j:i2 —j% thenAis:

(A) Symmetric matrix
(B) Skew symmetric matrix
(C) Zero matriX
(D) Unit matrix
T s A=(a] a,=i%~j2 WAR:
(A) wEfa STeE |

. (B) foem wufa S
©) wHAeTE
(D) T T8

F-7 NEUT-13—page-48
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98. Ifthe value of a third order determinant is 16, then the value of the determinant formed

by its cofactors, is :

(A) 4096 B) 16
(C) 64 - (D) 256
% T A R B RO w1 WE 16 ¥, 9 7 wewnet § fififa arfos o we @
(A) 4096 (B) 16
(C) 64 (D) 256

99. The range of the trigonometric function sec x, is :

(A) R=(-1,1) | ® R

©) .11 | (D) None of these
Praorfadts we sec x 1 IR ® |

(A) R—(-1,1) B R

©) [-1.1] (D) T @ =

cos (90° + 0) sec (-0) tan (180°-6) _
100. The value of ‘oo (360° _6) sin (180° + 0) cot (90°—0) '

@ 1 (B) -1

-

(C) 2 (D)

N|—=

cos (90° + 0) sec (-6) tan (180° - 0) .
; \ oi ° ° FIAAT :
sec (360° - 0) sin (180° + 6) cot (90° - V)

&) 1 | ®) -1
© 2 o 5

A-Set . NENT-13—page-49 U E-7
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101.

102.

103.

PHYSICS
For a body moving in a horizontal circular path with umform speed, which of the
following remains uhchanged ? S

(A) velocity (B) -acceleration
| (C) direction of velocity - (D) kinetic energy
e Aftst gt fa | Forea el @ g gy fave & R P A s Prm w2
(A) A (B) wrw
(C) an =t fewm i (D) wifst st
For a geostationary satellite the angular speed in units of radian per hour is :
(A) m/12 (B) n/6
(C) n/2 (D) =
eaa wfs wvar # -Reer 3wrw 1 Fvia = At §
(A) n/12 (B) /6
(C) w/2 (D) =
A body is moving in a circular path with acceleration ‘a'. If the speed of the body is
increased to four times the initial value, the acceleration will become : '
(A) 4a (B) 8a
(C) 16 a (D) a

T fIUE R 99 W ‘g’ W@W@%laﬁﬁmﬁwmmﬁwwwﬂw
T T B ST

(A) 4a (B) 8a
(C) 16a (D) a
104. The circular motion of a particle with constant speed is :
(A) periodic but not simple harmonic  (B) neither periodic nor simple harmonic
(C) periodic and simple harmonic (D) simple harmonic but not periodic
A OFR IO RIT B E FUR AL
(A) o, W WX a6 (B) ¥ swadl 7 W& sTEd
(C) ot e et s (D) W S, W S T
A-Set NEUT-13—page-57 - F-7
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105.

106.

107.

fhe moment of lineai moinentum is :

(A) angular acceleration | (B) angular momenturn
(C) rotational kinetic energy (D) moment of inertia
TG AT T STl R R R |
(A) Iof @R Y : B) i

) o i st (D) e s

The moment of inertia of a uniform circular disc of radius R and mass M about an axis
passing from the edge of the disc and normal to the disc is :

(A) 7/2 MR® - (B) 3/2MR°

(C) MR? | (D) 1/2MR’ .

M 5o o R 1o 3 T 39 ) 1w B R R T AT wen e B A
STEEd 3187 B fta: e Ml ¥

(A) 7/2MR° | (B) 3/2MR°

(C) MR? ’ B (D) 1/2MR°

The equation of motion of a particle is given by a = -bx, where ais acceleration, x-the

displacement from mean position and b a constant. The time-period of the motion is :

L 2n

W 2t ® =
. |

© T . ® 2nb

T U T IR w1 THIETT @ = —bx g1 femn wnan ¥4 ol a =, x fawems qen b ww fadiE )
01 F1 AT FeA B

] L,
(A) z\ﬁ;— (B)@"bE
2,
(C) :% : (D) 27vb
F-7 NEUT-13—paget58  A-Set
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108. The Young’s modulus of steelis 2.0x 10’ ' newton/m’. If the intra-atomic distance is
3.0 A, then the value of intra-atomic force constant in newton/metre is :
(A) 6.0x107° °
(B) 600.0
(C) 60.0
(D) 60x107" | |
T T T TR TO0F 2.0 x 10| Feyded ¥ afk wAmpEt S A w g 3.0A @, A
- FI-A[H & Fromrs (qé?/rﬁa).ﬁ BRI
(A) 6.0x107°
(B) 600.0
(C) 600
(D) 6.0x107"

109. A wire is stretched by 5 mm when it is pulled by a certain force. If an other wire of the

same material but of double length and double diameter is stretched by same force,

- the increase in the length of the other wire will be :
(A) 2.5mm g (B) 5.0mm
(C) 10.0mm (D) 40.0mm

| U AR W H{P T TR W ITH AR 5 mm 93 S a&sﬁmﬁ%qm—@iaﬂﬁﬂmﬁ
mﬁmmmmmm% wwmmm?ﬁmaﬁmﬁﬁ%@ﬁ
(A) 2.5mm (B) 5.0mm |
(C) 10.0mm | (D) 40.0mm

110. A liquid rises in a capillary tube if the angle of contact is :

(A) acute (B) obtuse
(C) n/2 - o (D) =
HIE 5 DAl A =g % ﬂﬁ: Tt i /
(A) =FHORA ' (B) sfus=wmmA
(C) w2w - (D) n @
A-Set ' | NEUT—13+page-59 | F,-'-7.
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111. A piece of ice is floating on water in a container. What will happen to the surface of
water when whole ice piece melts :
- (A) willgoup (B) will not change
(C) will go down (D) none of these
et T R 5 T 9 1 TE RS U TR @ R | I 9% 6 ghSl I WE e s
T 1 T4
(A) s ST (B) uftafda =& srft
(C) = St (D) T A i 7=
112. Difference between the internal and external pressures of a drop of radius rof a liquid
of surface tension T is :
A - ®) =
a7 s
| (©) P (D) 4T '
T 93 71 o1& 5ot st 1 Toroa aret g o offadt oiR sl <e o SRR R
A I B . _.2_T
A ®) =
o 4T s
© — ©) 77
113. Two identical solid spheres each of radius rand made up of the r.:aterial of density p
are kept in contact with each other. The gravitational force between the two spheres
will be proportional to : '
24 42
(A) pr : (B) pr
©) o°F O o
QY T THF 3F e Fd wedes w5t firow r ol St p o ot e & o ¥, (- @ weE
@ T &1 T B S e Gl Teed Sel GET €
A o | B) 7
- © o7 | O p°F
F-7 NEUT-13—page-60 " A-Set
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114. Anideal gas has'préssure P and the kmenc energy of the unit volume ofthe gasis E.

P and E are re!ated as:

W P=E ®) P=§E
(©) P=§ | (D) P~3E

@nmﬁﬁemszaka@sméwmﬁﬁhﬁaeﬁEﬁvwmewm%

(A P=E | ' (B) P=§E
© P=% o P-2E
115. An iron needle floats on the surface of water because of :
(A) buoyancy of the liquid (B) viscosity
(C) gravitational force \ (D) surface tension
WIE St ¥ It 1 TAE W Rl 1 3HH FROE
(A) g =1 ScEA ~ (B) ¥
(C) T | (D) Y5 T
116. Work done in an isothermal change of a gas depends :
(A) onIy on temperature
(B) only on volume expansuon ratio ‘
(C) on both the temperature and volume expansion ratlo
(D) only on initial and final pressure
TF 9 & FHard afted= § fRan o e feR e
(A) waw gl
(B) et 3TEEH THR UM W
(C) <, arT e AHAT TER AW W
(D) W Rftyen qen a1fad T W

A-Set NEUT“-13—page-61 F‘f7
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117.

The ratio of the coefficient of thermal conductivity of two different materials is 5 : 3. If
the thermal resistance of the two rods of these materials of same thickness is same,
then the ratio of the length of these rods will be :

(A) 5:3 (B) 3:5
(C) 9:25 | (D) 25:9
R Tl B - AETRA O 5 3 B U H T 1 AR 37 IR Y O T A %1 51 H

S YRRy SER A, @ 37 ST ] STEIgal 1 ST BN ¢

(A) 5:3 (B) 3:5
(C) 9:25 (D) 25:9

118. The refractive index of the material of a convex lens is 1.5 and the radii of curvature of
its surfaces are 20 and 30 cm. The focal length of the lens is :
(A) 120cm (B) 60cm
(C) 24cm (D) 12cm
T ST A % UE1E I SAqdAiE 1.5 3N 5 qeil bt geran e 20 aon 30 I ¥ ) oFg
RHA A ®
(A) 120 &t - (B) 60 &
(C) 24 &t | (D) 12 ¥

119. Two thin lenses are kept in contact. The focal length of one of the lens is 20 cm. If the
focal length of the combination is 12 cm, then the focal length of the other lens is :
(A) 15cm _ (B) 20cm
(C) | 25cm (D) 30cm
A T A S H ¥ 3R T | T O T wiws g 20 S ¥ Ak 51 w1 6t wwa gl
12 T |, o TR 9 FT W gl B | -
(A) 15 &+ (B) 20 3+
(C) 253+ (D) 30 &

F-7 NEUT-13—page-62 A-Set




120. A convex and a copcave lens of same focal lengths of 10 cm are put in contactto
make a lens combmatlon The combmahon is used to see an object of 10 cm height
placed 20 cm from the combination. The image seen through the combination will
be :

(A) inverted and of the same size as the object

(B) erect and of the same size as the object

(C) smaller and erect

(D) bigger and inverted

T 300 991 T Haaa a0 e Td& &1 Weg g0 10 99 € FH g9 § @R & g
T ST € 1 T 10 [ S I S HART ¥ 20 e X T & B WA GRS I § 1 HA g
(A) . 3 IR TG & MHR H1

(B) dien 3R a%g # SMFR H1

(C) &= 3IR wen

(Dy =T T ST

121. The focal length of a convex lens is f. It makes virtual image of size ntimes the size of -
the object. The distance of the object from the lens is :

A) (ﬁ,?)f
B) (n+1)f
(C) (n-1)f

o (%)

@mé@ﬁaﬁuﬁm@f%@ﬁ%nwaﬂwmm%uar«jaﬁravqﬁqfr
e ' ~

(A) (2;,"—1) f

B) (n+1)f
(C) (n=1)f

o (%)
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122. The magnifying power of compound microscope is 32. If the .még'iwnifying power of the

objeCtive is 8, then the maghifying power of the eyepiece is :
(A) 24

(B) 256

(C) 4

(D) 40

T W Gereeht fae! st amar 32 ¥, & sifugyas Y ead ewar 8 ¥ gaweeft &
Afsem wt saddT ama anft -

(A) 24

123. In Young's experiment the intensity of the central fringe of the interference pattern is I.
On closing one slit the intensity at this place becomes 1,. Which of the following
relation is true ?

(A) I=1I,
L (B) I=2I,
(C) I=41,
(D) IandI;are notrelated

I % FEM § A Yo ) B fF @ daw I ¥ uE few a1 # W M WA W
dforan I, & et &1 fr=r H @ e s w2

A) I=1,
B) I=21,
(C) I=41,
(D) Iwem I, ¥ = vy e ¥

F=7 NEUT-13—page-64 A-Set
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124 Inan expenment Qf dnffractuon through a single slit, what will happen to the width of
the central maxima when the width of the sht is decreased ? .

(A) decrease

(B) remain the same

(C) increase :

(D) may decrease or increase dependmg on the position of the screen
wFa fere faada & v # fore #1 el ven w f5ia st ot der ¢

(A) w

(B) =&t wit

(C) =i

(D) Hamaam% qﬁaﬁwﬁla‘? AR

125. In the diffraction of light of wavelength A tﬁrough single slit of width d, the angle between
the principal maxima and first minima will be :

® =

A
B) 54

. A
©€) 24

© 3

™ ‘d’ ﬁ@éaﬁmﬂmaﬂwﬁdmﬁm%faﬂﬁwmmwuaﬂm

%a”rama»’rﬂr@m : . .
A

A) 5
2

B) g9

A
© g

©) 3
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126l§1ectr|cal resistance of a piece of a méfér’ial ‘sﬁéfbly decreases on increasing the
temperature of the piece. The material of the p|ece is a:
(A) Conductor
(B) Insulator
(C) Semi-conductor
(D) Super-conductor SR 4
wwﬁ%@m'wﬁgﬁ—vﬁﬂummﬁmﬁﬁwm%n o e wd man
T | |

A

(B) HoETH
(C) -~

(D) sfi-=rers

127. Dépletion layer at a p—n junction contains :

(A) mobile positive charges only
(B) mobile negative charges only
| (C) immobile negative charges only
(D) both positive and negative immobile charges

. Q‘d?p—nW‘T{'éFﬁ s T A E

(R) e e e s

(B) =hae TR U 1G9
(C) e ﬁm HOMHE GIER]
(D) 'cﬂﬂ“T YT 9 TR TeeR saw

T S I e

Fo? NEUT-—ls—pagé-sﬁ‘ ~ A-Set




128. Electric fielg strength due to a dipole of moment p at a distant point ralong the axig of
the dipole is :

PR Lo T R T MR L o joroat
R R N RO IR LR . 1 RPN

B2
® E-5

1 “p
3 2neq r

21!?60 r

() E=

2neg re ©) 2neg T

| p P o P o o g e e P A e

) E=

2

p
L ; . E=— L
r3 (B) 21t€0 r3

129. Stored electrostatic energy in a capacitor of capacity C, which is charged upto Q
charge,'is :

Q Q%
® 35
c? | Q2
© 2a 0 o

e G g et i < Q o e o v a3 s oo

Q Q2
(A) 3¢ ‘ (?) 2C

c2 | Q?

© 3q ® 3¢
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130. A parallel plate capacitor has a plate area of 50 cm’ and plate separation of 1.0 cm. A
* potential difference of 200 volt is applied across the plates with dir as the dielectric

between plates. The battery is then disconnected and a piece-of backelite of dielectric
constant 4.8 inserted which fills the complete volume between the plates. The
capacitance before and after inserting bakelite are respectively :

~ (A) 44pF;211.2pF - (B) 44pF;211.2pF

131.

(C) 4.4pF;21.12pF (D) 21.12pF;44pF

T TR & WUl &t @ 1 &rwet 50 =1 A aﬂiﬁaﬁaﬁaaﬁqm .0 9t §1 200
ez w1 fagq-fasa dufis #Y ©Ri R, 59 ST 918 59 €, e 96 3 ) 39 9% S 5
STt & 3R 4.8 TERAS HY AhaEE HI W S G F Rl B HeF B QST B R A
?, @ B o 1ol Sl ¥ 1w ) - uifian, tee ofk Sdhese S & 9 wHe: e

(A) 44pF;211.2pF (B) 4.4pF;211.2pF
(C) 4.4pF;21.12pF (D) 21.12pF; 44 pF
Each resistance in the given network is of value R. The equivalent resistance between

points Aand Bis :

“(A) 3R B) 4R

(C) 2R (D) R _
fot 7 ke w1 # 9% yfady R 99 1 §1 9a & A a1 B fagef & e gages afady
A

(A) 3R B B) 4R
. (© 2R (B) R
F-7 NEUT-13—page-$8 A-Set




132. A galvanom

af ‘ragistéince 20 ohms requires. a current of 6 mA for full -scale
deflection. The res:stance required to convert the galvanometer 1o a voltmeter capable
of measu nng:amaxnmu:m potential difference of 3 volts, is'; '

(A) 4800+ . (B) '290 Q
(C) 960 | (D) 1950
T 20 3im SRR A e § 1ot fady @ forg 6 freh Rt ) stevE B ¥
‘ AedriieR s 3 Hiee T e A e # waer % oy s Wy 3 ;
(A) 480Q. .. | (B) 2900Q
] (C) 960Q (D) 1950

133. Open circuit potential difference between the terminals of a cell is called the :

(A) magnetomotive force - (B) electromotive force
(C) currentomotive force (D) resisfomotive force
T IReg § s I & ol (efiAel) & wea fqvemm sweem @

(A) Tt e (B) forag e 7

(C) ur = e (D) whriry amew =t

134. When a capacitor of capacity C is charged through a resistance R by a battery of emf
&, the charge on the capacitor vary with time according to the relation, (Here Qis the
maximum charge on the capacitor) :

&) q(h=Q[1-e 8) q(h=Qe"°

©) q(h=Qe C ) q=Qle 1]

319 TR C e aen wenfer R wieder & g eoﬁ@mwa@éﬁﬁaﬁ&mmvm
%a‘rwﬁawa@mw%m&ﬁwmﬁm%(wﬁa mwmaﬂw%)
" YRe

(A) gh=Q1-e ] (B) q(t)=Oe
©) q(=Qe "C (D) q(h=QleC-1]
A-Set NEUT-13—page-69 | - F-T




135.

A heater is marked 500 watt, 200 volts. The cost of using the heater for four hours at
15 paisa per unit is :

(A) 90 paisa (B) 60 paisa

(C) 30paisa : (D) 15paisa

T& g1 W 500 dfe e 200 diee fafea €1 €eX &1 4 902 Ja7 w3 W TN 5N @9 3w, 3k
whi gfe w1 gm 15 T &

(A) 903 (B) 60%&
(C) 30% - (D) 15%@
- - ' - .
136. The magnetic field dB ata point r distance away from a current element d/ carrying
acurrent I is given by :
Bl ® an 3o
T r l.r
2.3
— — Ldixr
C > - : D) Ko 297X7
© 4 07 O
;> . - ~»
T YR 31U o/ i ] i yafed @@ R, r W R g=Ha & dB g :
—> - ‘ ) Ko II‘3
Idl.r —
A Ho B P
(A) - (B) L
. 12,3
: Uo I r N
— Tdixr
L3 C -> - D Eg —_—
©) ax dixr ' ©) 4n 3
137. in a voltameter masses of different materials deposited at electrodes by passing same
amount of charge, are proportional to :
(A) atomic weight (B) mass number A
(C) atomic number Z (D) -electro-chemical equivalent
AreerHie H TAM ST % YT § TH 89 o fafi= ugredf & soame gaeEgr e § o waidt
® . ‘ :
(A) THI-9R &® (B) WM T A &
(C) T EENZ (D) foem Temf= geais & |
F-7 NEUT-13+page-70 A~Set




138.

©) F=qll

LHES

Force !—=) experienced by a:charge: q moving with a velocity v in an electric field of

- , -
strengtir E and a magnetic field of strength B is

—" ~>

(A) F=q(E+(vxB)]

-

B) F=q[B+(vxE)]

- -

(C) F=ql(v.E)+ (Bxv)]

VxE)+ (v xB)]
H v i A W@ q AU R E fogq & aen B T A5 F o A 3‘7?"%

(A) F =q[E+ (—\7>< B)]

- -> -

‘B) F =q[§+ (vx E)]

—)

(©) F=ql(v.E)+(Bxv)]

(D) F =q{(vxE)+(vxB)]

139. The magnitude of electric force experienced by a charged particle in an eléctric field
depends on : '
(A) charge :of the particle : (B) velocity of the particle
(C) direction 6f the electric field (D) mass of the particle | N
Fore- 81 3 1 TR T MR O R T 1 Freg-er w1 e ek e ¢
(A) 0 R ST W Y(B) ma‘a‘éﬂw»
©) fap-dmsfmw (D) % T R “
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140.

= § F p-yFR (p-type) & H-reE & foe § e we @ g

141.

Pick statement that is correct for a p-type semi-conductor :
(A) Majority carriers are positrons

(B) Overall charge on the material is positive

(C) Density of minority carriers depends on temperature

(D) 5th group impurities produce p-type materials

(A) OISR SgETTE 1A 9%F o1 ©

(B) et THeMHT UR1e W TS a9 O ¥

(C) FeTaTTs AT aATEwhi i v g W it e ¥
(D) 5% g # faemae ¥ p-TFR & 9eed s

Pick mirror isobars from the following :

15 15

17 17
7N ’8O !

c, . joNe

12 12
NS

® N,

oF

(A) 4B

15

O

17 17
(C) F ', Ne

17

(D) O, F

9

fiper & A gdm-guaies (mirror-isobars) ¥ :

5812, 6012, 7N15, 8015, 9F17, 1ONe17
A) .5812, 6C12
®) 7N15, 8015
©) 9“:17, 10Nei7
| (D) 8015, _9F17
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142. The spee ds ound imaie 18:332 my/s. Tha speed of spund in air in units of km per hour
- will be : FTL ey ! SRR - -
(A) 1.1952kmh
®) 11.952kmh
(C) 119.52 km/h
(D) 1195.2km/h | N
g 3 it ) W 332 mis ¥1 et Y o arg # fe whe o2 F A
(A) 1.1952 fapeftysoey
(B) 11.952 fesit/suer
(C) 119.52 Reit/eoe
(D) 1195.2 faeit/sw=r

143. Dimensional formula for Boltzmann constant is : :

(A) MLT %Y (B) [MLAT %™
€) MLT 67" (D) MLT ™)
@ ML) B MPT%T
©) MLT e} @) MLAT 7]

i 44. Select the pairs which have same dimensions :
(A) torque and work
(B) energy and Young’s modulus
(C) work and pressure
(D) angular momentum and work
TqH ﬁmai’r HNSE:
(A) =& et agn
(B) ST AU TN WARRI UNH
* (C) wEamIT
(D) =vit Fam e
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145.

146.

147.

Frequency fof oscillations of a mass m suspended from a spring.of force constant kis
given by f=cm *k’, where cis a dimensionless constant. The values of xand y are :

(A) x=-1/2,y=1/2 B) x=t2,y=-12 ..

(C) x=-1/2, y==1/2 (D) x=1/2, y=1/2

T kae Frdien o foim | weh m SoHE S He STl f Wy f= melelgmﬁﬁﬁﬁ%l
el ¢ o fauiA fradis 31 x e y S AE E

(A) x=-1/2,y=1/2 (B) x=1/2,y=-1/2

C) x=-1/2, y=-1/2 (D) x=1/2,y=1/2

A force F = (5i +3j) newton displaces a body by (2i — j) metre. The work done by
the force is : :

(A) Zero (B) 12 Joules

(C) 7 Joules _ - (D) 13 Joules

T 9 F = (5] +3)) =2 frslt ag #1 (27 - j) wiex foeenfim s R foran e el R
(A) = o (B) 123 -

(C) 7@ (D) 13+

A simple pendulum is hanging from the roof of a train w‘hib}h( is moving with
an acceleration ‘a’. The inclination 8 of the cord of the pendulum from the vertical will
be :

(A) 9= sin”’ [3} (B) 0= tan™! (_9-1

La)

0= "1(£J —No
(C) O=tan o (D) 6=0

qmwm‘a’mﬁaﬁnﬁmaﬁm@mw%lWﬁ@ﬁmaﬁﬁw
0 1 I BT :

_sin![ 2 | ~tan"1| &
(s 0 o (3
(C) 6=tan_1(§J | (D) 0=0° '
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148. A motor car is moving on a sffaight horizontal road with a speed of 20 m/s. The
coefficient of friction between thétyres and the road is 0.4. The minimum distance in
which the car can come to stop is : ;

(A) 50m (B) 125m
(C) 100m ' (D) 150m ‘ ,
TH AR &R dieft e gew W 20 H/A. i @ 51 @ ¥ wew au Tl @ st wlvy 1onis
| 0.4 ¥ 9% =paw g0 fred R e g,
. (A) 50 (B) 125Ti.
(C) 100 . (D) 1507

149. A cylinder rolls up an inclined plane, reaches some height and then rolls down with-
out slipping throughout these motions. The directions of the frictional force acting on
the cylinder are : L
(A) up the incline while ascending and down the incline while descending
(B) up the incline while descending and down the incline while ascending
(C) down the incline while ascending and descending
(D) up the incline while ascending and descending
& o fFel 7 90 W SR Ft iR fa frad e € 3l 9 29K 9% 9fn & 9% fa
R 1 Y IR TEH T ¥ Ve W @ A sl e R d
(A) TR T NI 90 STIRA SR H IR 3R T2 300w 7 F gfaw AR w5y ol
(B) TR TG THA T % Y A Ft 3R iR 2 I THA 7 B SAIRY IR & 3R
(C) @& & TR 1= HI 3R SR Fgd a1 A WA T
(D) o & SHRY ST h! JAR FW Tgd a1 A= Id 994

150. Assuming that the coefficient of friction between the road and the tyre of a car is 0.4,
the maximum speed. of the car on a turn of radius 100 m on a level road will be :

(g=10 m/sa)
(A) 10m/s - (B) 20m/s
(C) 30m/s (D) 40m/s |
TF GRS GgF W 100 Hi. &t o 9 gam | ot wR &t aftewan =, sefE TR am
* T B = wv o 0.4 ¥, 30 (g=107./23)
(A) 10#./4. (B) 204/4.
(C) 30./3. (D) 40+./3.
A-Set . NEUT-13—page-75 =7
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151.

152.

CHEMISTRY
The enthalpies of combustion of carbon and carbon monoxide are —393-5 kJ and
~283 kJ mole™’ respectively. The enthalpy of formation of carbon monoxide is :

(A) 1105kimole”’ - (B) 6765 kJ mole”"
(C) —6765 kJ mole™" (D) —110-5 kJ mole™’

wmwm%mﬁwmm:ﬁW—ses-sﬁ.G‘géaﬁt—283ﬁ-ﬁ.w
%) FrET A B e w Qs R

(A) 110-5 f. 1 At (B) 6765 f. S Aiet
(C) ~6765 f. I dr ' (D) -110-5 . g dw |

The quantity of K in a rate of expression :

(A) is independent of concentration of reactants |
(B) is called Arrhenius constant

(C) is dimensionless

(D) is independent of temperature

foran o3 8 K Y 5 ¢

(A) afiEde & T R R 78 it §

(B) oo feomis et &

(C) frmém¥

(D) a® it w@= ¥

. The half-life of radioactive sodium is 15-0 hours. How many hours would it take for 64

153
gms of sodium to decay one-eighth of its original value ?
A) 3 (8) 15
() 30 | (D) 45 |
WFederdl difeam & -3 15:0 702 %1 64 7 Vfea™ B go TE0 P 1/8T S o & I
Hfrm g e 2
(A) 3 -~ (B) 15
(C) 30 (D) 45
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154. Which of the following is not true for the reaction Fe™* + & — Fe®* 2
(A) Fe* being reduced
(B) Oxidation state of Fe has changed
(C) Fe>* could be referred to an oxidising agent in this reaction
(D) both Fe>* and Fe** are called acid radicals
afufEn Fe™* + 6 — Fe™* & faa fireifira # o wet =t & 2
(A) Fe s=fmdmt (B) Fe = it svoreen ufiafda 9t 3
(C) Fe¥* M amiFws Fmmawme (D) Fe®' aik Fe®* i sl qors w2 €

- 155. In the reaction Pb(s) + Cu2+(aq) - Pb2+(aq) + Cu(s) which is reducing agent ?

(A) Pb*(aq) () Cu*(aq)

(C) Pb(s) (D) Cu(s)

st Pb(s) + Cu? (aq) > Pb*(aq) + Cu(s) ¥ araems & & ?
(A) Pb®*(aq) B) Cu’(aq)

(C) Pb(s) (D) Cu(s)

156. The phenomenon of . negative catalysis is ;

(A) autocatalysis (B) induced catalysis
(C) inhibition (D) enzyme catalysis
FHUHE S i TPl TR T
(A) =-3aRT (B) Hfa SR
) ¥ (D) T S

157. .......... is.the gold number of hydrophilic 6olloid, then greater is its protective power.
(A) higher ~ (B) lower
(C) constant (D) none of these
e ¥, TG HINSS H1 Ties T, T e I Tt Teror vk |
(A) sfers ‘ ®) fr=

- (©) fex | (D) T ¥ w7
F=7 ’ NEUT-13—page-84 A-Set
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158. In metallurgy of ikm;ylgbeg;&m@stone‘ is added to blast furnace calcium ion ends up in :

159.

160.

.(C) ns'? (n —-1)d1_1

(A) slag Cop SR (B) gangue

(C) metallic calcium _ (D)v Calcium carbonate
R H o1y HH F S G BT TR e Wﬁmm%a%ﬁvﬁmmm%:
(A) TR (@)

(C) wnfersh Hhicwam (D) fewaw FEie
Identify the least stable ion amongst the following :

(A) Be B) Li

(C) B ; (D) C

forifiea & T w9 o o W TR :

(A) Be B) Li

© B (D) C

Transition metals have general electronic configuration :

1-10 (B) nSZ np1(n_ 1)d‘l—10

(D) nsznpe(n - 1)c:!1'10

(A) ‘ns®nd
0

S e o A SR T e

(A) nsnd'"° B) ns*np'(n-1)d""°
(C) ns'? (n —1)d1'10 (D) nsznps(n - 1)d1'10
161. Variable valency is a general feature of :
(A) s-block elements (B) p-block elements
(C) d-block elements (D) (B)and (C) both
YRadta ST T W e
(A) s-=sifeh awl B | - (B) p-=ot® wdl @
(C) d-=eifeh deall 1 (D) i (B) = (C)
A-Set NEUT-13—page-85 ’ F-7




162.

The amount of energy released when 106 atoms of iodine in vapour state are converted

to"ionsis 49 x 1072 4. What will be electron affinity of iodine in eV per atom ?

(A) 2:0 ‘ , (B) 25
C) 275 (D) 3-06 ,
wamvfr@ﬁ%m A} AT ARt B SRE e A ufiafia 9§, ?hmgaﬂw-q'ﬁw

49 x 107 @ ¥ )1 TR SR Wi T SRR F soee-dee § w a2

(A) 20 (B) 25
(Cy 275 (D) 306
163. Sodium hydride when dissolved in water produces :
(A) acidic solution | (B) basic solution
(C) neutral solution ' (D) cannotsay
Qfeam eEeRs S« g A e s €, Y s
(A) =it faer (B) &7 faemm
(C) Rrm faemm (D) 7 eI T
164. When zinc reaéts with very dilute nitric acid, it produces :
(A) NH,NO, ' (B) NO
(C) NO, (D) H,
v e oiftr o Tefew or S wu fFm A A R
(A) e ATEde (B) Trfeer sires
(C) TISH SrE3FES (D) wrEgeA
165. A black sulphide when reacts with ozone becomes white. The white compouﬁd is:
() znso, . o (8) PbSO, |
(C) BasO, (D) caso,
T HTT IoFEE Sia A @ g fma ot 8, ﬁlmﬁraﬁn%l W?ﬂf‘w%
(A) fifw wode | (B) T TePhe
(C) ofem wehe (D) ST wede
F-7
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166.-Strongest reducing agent is : :
' (A) F~ By CI”

(C) Br (D) 1~
EEGRLECEE DG
(A) T s . (B) o e
(C) s | (D) s s

167. The formula of haematite is :

(A) Fe,0, (B) Fe,O,

(C) FeCO,4 (D) FeS,
TR H I :

(A) R st (B) Bfiw st
(C) w9 FEMe (D) B TEH1ZS

168. Which of the following forms with an excess of CN ion, a complex having coordination

number two :
(A) Cu™ (B) Ag’
. (©) Ni** | D) Fe?*
CN™ & %t siftrar & wry Freifire & 99 Yo den A w Ifea sy 7
. A cu®* (B) Ag’
(C) Ni** | (D) Fe*
169. The IUPAC name of Ni(CO), is : ,
(A) tetracarbonylnickelate (O) : (B) tetracarbonyinickelate(ll)
(C) tetracarbonyln.ickel(O) (D) tetracarbonyinickel(ll)
Ni(CO),, 1 STt T ¢ : | -
(A) @Rt (O) (B) mmEitmrEa (1)
(C) <TrwmEit@mfea (O) (D) TEitErarne. () -
A-Set | NEUT-13—page-87 R =
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170. A 5 molar solution of H,SO, acid is diluted from 1 litre to 10 litre. What is normality of

171.

172.

solution ? .
(A) 025N (B) 1N
(C) 2N (D) 7N

TR o7 & 5 Aier faeem +1 1 faer § 10 fore o5 o fvan s %) foeram =) SisfeR
1 Bt ? .

(AY 0-25N : B) 1N
(C) 2N (D) 7N

Ferric ions form prussian blue coloured precipitate due to ................. .
(A) KMnO,

(B) K,Fe(CN),

(C) Fe(OH),

(D) Fe,[Fe(CN)],

mw ................. %szﬁﬁmmm@qm%l

(A) KMnO,

(B) K,Fe(CN),

(C) Fe(OH),

(D) Fe,[Fe(CN)yl,

The volume of water to be added to 100 ml of 0-5N H,SO, acid solution to get
decinormal concentration is :

(A) 400 ml | (B) 450 ml
(C) 500 ml | (D) 100 ml

YRR I % 0-5 Hidern S 100 faedt. freem =1 arsan e %3 & fad ot &
e e 8 : ‘

(A) 400 fieh. (B) 450 firch.

(C) 500 faeh. | (D) 100 ferch.
-7 NEUT*téépage-ss A-Set




173 Which of the following is formed when CO, gas is passed through aqueous solution
“of sodium chromate ? :

(A) Cr(OH)3 is precipitated

(B) Yellow solution of Cr,(CO,), is formed

(C) Orange solution of Na,Cr, 0. is formed
(D) No reaction

fr=ifera & S a9 § o S seelrss T difeTs wite & ety faerm § yaifsa @t
SR ?

(A) Cr(OH), smafim g &

(B) Cry(CO,), 1 Hrem faerm e &

(C) Na,Cr,O, % T faera e &

(D) =¥ sifufsman &

174. A compound contains 38:8% C, 16% H, 42:5% N. The formula of compound will be :

(A) CH,NH, (B) CH,CN
(C) C,H.CN | (D) CH,(NH,),
T AT T FEA 38:8%, TRESH 6%, TS 42-5% €1 M =1 g A
(A) CH,NH, | (B) CH,CN

r (C) C,HLCN- _ (D) CH,(NH,),

175. A compound cohté-ining only carbon, hydrogen and oxygen has a molecular weight
of 44-0. On complete oxidation it is converted into a compund of molecular weightpf
60-0. The compound is : » |
(A) an aldehyde {B) an acid
(C) an alcohol 3 (D) an ether

A forg e w1, emgiem oir stiedfor ¥, 1 SR 44-0 %tq\vfaﬁa“fﬂwwmw
7€ 60-0 SR FY ATk # ufeaffa 2 s ¥ A §

(A) T Ufeesis | | (B) uw v
(C) u= UYewieter , (D) T 3R | |

R e+ . — —



176.

177.

CH :
3
(A) 3,3, 3-zrEafae-1-9rdH (B) 3, 3-swEAfad-1-=EH
(C) 1,1, 1cEAfaE-2-d= (D) 2, 2-sEAfaa-3-=EH
Which type 6f isomerism is shown by diethyl ether and methyl propyl ether ?
(A) chain ' (B) functional
(C) metamerism (D) position

The IUPAC name of the following compound is :

CH
I
CH,~C—CH =CH,

|
CH,

3

(A) 3,3, 3-trimethyl-1-propene (B) 3, 3-dimethyl-1-butene

(C) 1,1, 1-trimethyl-2-propene (D) 2, 2-dimethyl-3-butene
= Siffres =1 s M ®
CH,

|
CH,-C — CH = CH,

TR T iR Aol Wuser 3eR g1 o i 1 IaEgan YEiiia S S § 2

(A) sgEem (B) frarer®

178.

(C) weaTEIEa (D) =W

That which is not used as gaseous fuel :

(A) gasoline | (B) acetylené

(C) carbon monoxide (D) methane

g St Tdta Sum & w9 § & yEm fear s ®

(A) Feef (B) UHifeet
(C) T RS | - (D) @

F-7
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179

The petrol of octane number 80 has :

(A) 80% n-heptane + 20% iso- -octane (B) 20% n- heptane + 80% iso-octane
(C) 20% n-heptane +80% n-octane (D) 80% n-heptane +20% n-octane
e em 80 WM A B ¥ |

(A) 80% HAiE-R + 20% STEE-3RA

(B) 20% THE-TRT + 80% TEHI- 3R

(C) 20% THT-RRA + 80% - aifaeA

(D) 80% AHT-FSA + 20% et

Structure of diethyl ether is confirmed by :

180.
(A) Kolbe's synthesis (B) Franklend’s synthesis
(C) Williamson’s shythesis (D) Wurtz synthesis:
TRUfUe $OR F T g &t o1 et :
(A) P TYATT GRT (B) P=HAITS WA R
(C) ffFmgmdwmen (D) IITEREEUEK
181, CH,CHO gives 1, 1-Dichloroethane with it :
(A) PCI ' (B) S,Cl,
©) Cl, (D) HCI
tHefereeRs 1, 1-SEFEIRINAT 0 & 39S WY ¢
(A) PCly (B) S,Cl,
© ci, (D) HCI
182. Which of the following acids cannot be prepared by Grignard reagent ?
(A) "Acetic acid | (B) Succinic acid
(C) Formicacid . o (D) Allofthese
* freifea § S s AR it @ grR1 el s s WA g ?
(A) Efew s (B) wdiifrw sr
(C) wifds® st | (D) 3@t ‘
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183. Chlorobenzene is prepared commercially by :

(A) Friedal-Craft’s reaction ~ (B) Raschig process
(C) Grignard’s reagent (D) Wurtz-Fittig reaction
SR 9 F FARS 1 IR Bt § 71 317

(A) wea-we fafwa (B) e yww

(C) TR s (D) FEo-fefon sffE

184. Phenol —%”—) x. The compound x on acylation gives aliphatic aromatic ketone. The
reaction s :
(A) Gatterman’s reaction
(B) Friedal-Craft's reaction
(C) Wurtz reaction
(D) None of these

fetfer —Z1> x . i x Teehww B W Aehdfen W@ifes F197 Am ¥) sfufEar €
(A) na‘qﬁaxﬁqm o
(B) wrew-seE sfufmar

(C) e sfufeean

(D) T & FIE A&

185. Which of the following reduces Tollen’s reagent ?

(A) Cane sugar (B) Starch

(C) Glucose | (D) All of these
frreifa & S e sifirrdes Y sToafim w2

(A) LR (B) =

(C) Ty (D) 3wt
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186. Glucose converts into alcohol by action of enzyme‘:

(A) Zymase (B) Invertase
(C) Maltose (D) Diastase
TEH & R | i Qohrelel B seom ®

(A) TEAs | - (B) wH
(C) =Ry (D) sy

187. Amino acids are formed from the hydrolysis of ................. .

(A) nucleic acid (B) carbohydrates
(C) fats | (D) proteins
................. % W m ﬂ Qtﬁ:ﬁ m aqa %l

(A) =fe ofra (B) wErEEIH

(C) = (D) Wera

188. Which of the following called polyamide ?

(A) Rayon : (B) Nylon

. (C) Orlon ’ (D) Terylene’
freifra & S didficaes weom & 2

f (A) @ (B) ettt
(C) &rRa | (D) oA

189. Which of the following is an example of condensation polymer ?

(A) Nylon (B) Bakelite
(C) Urea forrhaldehyde resin (D) Allof these
Frer T S g H ST R 2

(A) TEE ' (B) SHamER

(C) Ife wiifesars WM (D) ATt
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190.

Which has maximum number of atoms ?

(A) 24 gms of C“z) (B) 56 gms of Fe(ss)
(C) 27 gms of AI(27) (D) 108 gms of Ag(1 08)
e I we vt RSt w Hem ¥ 2
(A) wah“z) % 24 UM (B) ¥R % 56 UM
(C) ﬁﬁﬁaﬁm(m & 27 7™ (D) faesy, . & 108 7M™
191. Which has the maximum number of unpaired d electrons ?
(A) N B) Cu'
(C) zn* (D) Fe*'
foraeh T T v ST d SoeRA § 2
A) N B) Cu’
(C) Zn* (D) Fe'
192. Bond order in species is as the following :
(A) 0,>0,">0, B8) 0,">0,>0,
©€) 0,>0,>0," (D) 0,>0, >0,
weifedl B oy oife e gR @ Ot § |
(A) 0,>0,">0, B) 0,">0,>0,
(€) 0, >0,>0," (D) 0,">0, >0,
193. Which compound has electrovalent bond ?
(A) H,O, , (B) CCl,
(C) NaBr (D) CHCL,
o <ifies ¥ S @dos T E 2
(A) H,0, - (B) CCl,
(C) NaBr (D) CHCI,
-~ F=7 NEUT-13—page-94 ~ A-Set




194. Weight of Urea required to prepare 200 ml of 2M solution will be :

(A) 12gm | (B) 24gm
(C) 20gm (D) 60gm
2 Ao & 200 firedt foreea 7R & fog gt & R 1 servawa At
(A) 127 |  (B) 24mm
(C) 207w | (D) 60w

195. In Bragg’s equation n\ = 2d'sin 6, n represents :

(A) Number of moles (B) The principal quantum number
(C) Avogadro’s number (D) Order of reflection
| R nA = 2dsin 0 F ‘n weRfa wmrar ¥
(A) T Ft wen (B) &I FaTven WM
(C) STrarmRY &t Tem (D) wEdT ®t Hife

196. The dlfference between number of Neutrons and Protons is posmve for

(A) Hydrogen atom (B) Deutenum atom
(C) Tritium atom (D) None of these
= e e w1 Wem w1 o Fre @ el e dm s
(A)  TEESH T (B) <gafm wemy
(C) Zrfem ey (D) =7 & I 7
197. For the reaction 2NO(g) +Cl, @ ~—— 2NOC|(g) which is true ?
(A) K =K, xRT B) K, =K, (RT)
Ke , , Ke
©€) K,= ﬁf , (D) K, = (RT)
siffsear 2NO ) +Cl, ) — 2NOCI, ,  frdt o 9t % 2
A K, = Kc x RT (B) K, =K, (RT)
* ) K D) K = c
A-Set ‘NEUT-13—page-95 F=7




198. CaCO,4(s) ——— CaO(s) + CO,(g), AH=110kJ
The pressure of CO,,.
(A) increases on adding catalyst
(B) decreases if T is raised
(C) increases if T is raised

(D) increases if inert gas is passed keepihg T constant
CaCO,4(s) —— CaO(s) + CO,(g), AH=110kJ

He SEAFAES F T

(A) IAF BEA W &M &

(B) dIY S@H W T §

(C) 9 g™ W I ¥

(D) a9 e e W wd 1w 9 yarfea e W s §

199. pH of water is 7-0 at 25°C. If water is heated to 80°C :
(A) pH will increase
(B) pH will decrease
(C) pHremains 7-0 .
(D) H ion concentration will increase but OH™ ion concentration will decrease
25° Fuis W uF FT pH 7-0 ¥ SR Wt 1 80° AU we TR foan st &, A
(A) pH st .
(B) pH =it
(C) pH7-0& =
(D) H o1a = wrsw S wfRT OH ™ ST ol S s

200. in the reaction H,0 + HCl —> H30+ + CI', the species that acts as Bronsted base

IS ©

(A) H,0 (B) HCI

(C) HO . (D) CI”

aafm‘er O+HCI——>HO +CI ¥, wﬁa‘laﬁ@gmﬁwwm%%
(A) H,O (B) HCI

(C) H3O+ (D) CI”

[
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BIOTECHNOLOGY
151. X-gal is an analogue of : '

(A) Glucose (B) Lactose
(C) Galactose (D) Sucrose
X-gal fre=1 1 auuei ®
(A) RIS | (B)
C) o (D) T
152. The recombinants with insertional inactivation of Lac Z gene will form :
(A) Blue colony : (B) White colony
(C) Both blue and white colonies” (D) None of these
gt fo Lac Z Sia ) faeh fifieraa g8 3 3 fr= frae s
(A) et frag | (B) wwg fraw
(C) =i et 5 wde frae (D) w7 &+ 7
153. Site directed mutagenesis invovies change of .
(A) Nucleotide \ (B). Nucleoside
(C) Nitrogenous base = _ (D) Deoxy sugar
e SRS TREARRY A vfiad dar ¥, w -
(A) TfFsters i (B) =fFstars H
(C) wrgdem a9 &1 (D) it yRy &
154. The DNA sequencing method developed.by Fred Sanger was based on :
(A) Chain termination -(B) Enzymatic degradation
(C) SNPs (D) ESTs
e ¥R gR fawfaa . . T s fafy fre W et ot
(A) &t T (B) TmEHE fwed
(C) SNPs , (D) ESTs
155. Southern hybridization is a technique to identify :
(A) DNA (B) mRNA
(C) rRNA - (D) Protein
gfiolt Haor et < T T Y A §
(A) & : (B) m3R. W T (MRNA)
(C) r3m. . T (rRNA) (D) YRH
A-Set = NEUT-13—page-97 F-7




156. The first dimension of 2-D gel electrophoresis is :
(A) SDS-PAGE
(B) Native-PAGE
(C) Isoelectric Focussing
(D) Counter-current electrophoresis
2-D 51 SOERIBRIGH 1 qgH oaM e §
(A) SDS-PAGE
(B) 3fea-Tw (Afea-PAGE)
(C) oTEesifre HienfaT
(D) FISU-FE THFIBRITE

157. The expanded form of MALDI is :
(A) Matrix Associated Laser Desorption/Ionization
(B) Matrix Assisted Laser Desorption/Ionization
(C) Matrix Associated Laser Denaturation/Ionization
(D) Matrix Assisted Laser Denaturation/Ionization
MALDI =1 foega ®9 % :
(A) A TAfTRe SR e SRS ,
(B) HFa aifrede s v/ smirresrm A
(C) Azt TARTERS AoR LraRe/ STaATEIIT o
(D) Hfewa sAfas TR SHFRT/TEARIRA

158. The characterisation of protein secondary structure using circular dichroism
spectroscopy is done in the wavelength range of :

(A) 100 to 200 nm ) (B) 150t0200nm
(C) 160 to 240 nm (D) 200t0300nm .
T % faetarsh e 1 TR SRR g i Fre aded 1 dvand e o $
(A) 100 %200 nm R (B) 1509200 nm
(C) 160240 nm » (D) 200300 nm
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159.

The following method is used to study protein structure :
(A) X-ray Crystallography

(B) Nuclear Magnetic Resonance Spectroscopy

~ (C) Circular Dichroism Spectroscopy

(D) All of these

| ﬁwﬁﬂ@aﬁfumwmma}awﬁ@m%

160.

161.

162.

(A) X-ray fseeimmet

(B) —fFsr Fmafew TR Wedremd
(C) TR T WFIwhd

(D) 3wt

In a polypeptide chain, the ¢ (phi) bond is present between :

(A) C-N (B) CC
(C) N-C, N (D) C-0

Heierss Faa H ¢ (FE) sy daddad :

({A) C-N | (B) CC

(C) N-C_ ‘ . - (D). C-O

B—a—B loop in a protein represents :

{A) Secondary structure (B) Tertiarystructure

(C) Domain (D) Motif

B—a—P T T § THqA HIA T ¢ . .

(A) feefas g - (B) T wram

() %‘rﬁﬁ (D) wifew

‘[3 sheets are an example of protem S:

(A) anary structure (B) Secondary structure
: (C) Tertuary structure . (D) Quarte,mary‘stmbture

Bwﬁ!ﬁ-—w‘?ﬁmmm% R

(A) . wrafiss ST (B) fifraw W

(C) wﬁwm S (D) <=gd® aTEl

A-Set T NEUT-13—page-99
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163. Organic solvents result in protein precipitation due to change in :
~ (A) pH (B) Dielectric constant
(C) Ionic strength (D) All of these
W 1 ARG FHrsifreh faeraes o) suftafy # i § seoma & SR e §
(A) pH (B) SB-gAfRH HHIT
(C) omafs gaar - (D) A '
164. In minisatellites, the length of repeat sequence is up to :
(A) 15bp (B) 25bp
(C) 35bp o (D) 45bp
fridemse # TRl SThT 1 e Bl ©
(A) 15bp (B) 25bp
(C) 35bp (D) 45bp
165. The length of the DNA molecule which can bé separated by pulsed field gel
electrophoresis is : .
(A) >20kb ‘ (B) >30kb
(C) >40kb - (D) >50kb
TERE IS N FOHRIBRIGH I Yo, B a1t €1, TH. T, 379 Y 08 oell €
(A) >20kb (B) >30kb
(C) >40kb . (D) >50kb
166. DNA sequencing products are separated by following type of gel electrophoresis :
(A) Agarose (B) Polyacrylamide
(C) SDS-PAGE . | (D) Paper electrophoresis
. TH. T STTHAY AR F) T THR H1 S SoReRias @ g R e R
(A) TR (B) deifheTTAES
(C) SDS-PAGE (D) YW TEFRIRRET
167. The enzyme used for producing chemiluminescence in pyrosequencing method is :
(A) Sulfurylase (B) Peroxidase
(C) Nucleotidase | , (D) Phosphatase
TRfaEsfE fafa § Siegfmdy = omd s s R
(A) FERRREAS ' (B) waifrew
(C) —frasiees (D) vRIEHS -
NEUT-13—page-100 -~ A-Set
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168. The per cent of euchromatin covered in the finished sequence of human genome

(2004) was : o

(A) 85% (B) 90%

(C) 95% (D) 98%

Ae S (2004) % 9Rgel stwaw # gwmfer s e wfae wfas o
(A) 85% (B) 90% |
(C) 95% (D) 98%

169. The following property of microsatellite DNA families makes them useful for forensic -
applications :

(A) Present as tandem repeats
(B) Interspersed throughout the genome
(C) Generation of RFLP pattern
(D) Inherited in Mendelian manner
Frefafed T # RO RN 9. T, T wm B fafuerer 3 swfm ¥
(A) FweEs TRIgha (B) R W T S=-a=a § g
(C) RFLP msfa =m0 | (D) Aveformm wis ¥ aenwiaa e

170. The parasexual cycle is used for the improvement of the following industrially important
fungi: e
(A) Fusarium | (B) Penicillium

(C) Ashbya (D) Gibberella

‘rTger™ 7' @ SyEm Frefafea dfe ea R was S e dm ¥

(A) wEREH ' (B) fufaferzm

(C) wafwm » (D) fadten ~
171. The physical method for cell disruption is :

(A) Liquid shear ; (B) Freeze thawing

(C) Ultrasonication (D) Allofthese

Pifrer foret 1 Shferr et & ; o

(A) = ATETT (B) < -fyuemn

(C) segmfe (D) Awh o
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172.

The population doubling time for human embfybhié cell line IS

(A) 12 hours (B) 24 hours
(C) 36 hours (D) 48 hours
TG Uit R TTg Y STEE B AT eH B T T
(A) 12 52 (B) 24 ww2
(C) 36 w02 (D) 48 =w2
173. In Fast A algorithm the size of K-tuples used in DNA searches is,upto :
(A) 2 residues , (B) 3 residues '
(C) 4 residues (D) 6 residues
Fast A sreniRg® #, €. . € %t st & wge K-2gwed &) i 8t &
(A) 2 sEfire % | (B) 3 safyre o
(C) 4 smafyre 7% (D) 6 Al T
174. The type of opine produced in transformed plant cell is determined by
~(A) host plant 5 (B) infecting bactena =
(C) both (A) and (B) | (D). none of these
TG TR FHIfSTehT F Seq=1 e 1 ghR i e R
(A) ASEFURY | (B) Wmsﬁwg
(C) =mi(A)a(B) - (D) T8 § *g 7
175. The following is an example of selectable marker used for the isolation of transformed
plant cells : | o
(A) antibiotic resistance : (8) *'Q'uis" ' EDECE
(C) Lacz o (D) npt /A
mm%wmmmmwmwm%mﬁm%
(A) i gfes (B) gus .
©) Lacz . @ m o
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176. New genes can be acquired by : 1 :
(A) domain ‘duplication | (B) domain shuffling

(C) lateral gehe transfer. (D). all of these

T8 S 1 g W ot S weedt §

(A) & fgogfa : (B) 87 ® IAE-YHS HE
(C) e i TR D) =R X

177. The following is an exampie of unrooted phylogenetic tree :

| B C ' c
A D 2
©) —v— . ) »———(D

B
frafafed et § syeia wrEesAfes g8 @
C ' ' C.
(A) A (B) B
) B C o | ¢
. (©) — (D)
: ; B o D
178. The out group included in a rooted phy!ogenetig: tree correspands to a homologous
gene thatis : T
(A) Closely related to other genes (B) Distantly related ;,tp,gther genes
(C) Allthe genes are unrelated (D) All of these , \
e wresAfes gar 3 e * seeyy’ aqvd § T S S &, fr
(A) @ﬁﬁ@ﬁzﬁm%v (B) T ol & ¥ 1 R ¥

(€) widimamdR Rt (D) Jeed

A-set .- NEUT-13—page-103 - - F-7




179.

180.

181.

182.

A clade is a group of : ;
(A) monophyletic sequence (B) diphyletic sequence

(C) paraphyletic sequence (D) polyphyletic sequence
s waEe:

(A) ATERERACE ATHI (B) THERICH STTHHI
(C) Tremafes swTm . (D) vulciwrERifes TgHI

In which of the following, branch length does not represent the phylogenetic distance
between species ?

(A) Cladogram (B) Dendrogram

(C) Phylogram (D) Chronogram v

Frefafea & & frad e =t =g ysifa & 9 wEesHies O ) TG 78 S E 2
(A) =™ (B) d=grm

(C) wremm™ (D) T

If a culture contains 10° cells/ml at t and 10" cells/mi 5 hours later, the specific growth
rate will be :

(A) 2:-103h™ (B) 2:201h™
(C) 2:303h™ " (D) 2:505h"
I T W A ) W 10° cells/ml & 3 5 =2 ww=q 10'° cells/ml ¥, < fafere gfig <w &t
(A) 2:103h™ (B) 2:201h™
(C) 2:303h™ (D) 2:505h™

A microorganism which uses chemical as energy source and carbon dioxide as the
principal carbon source is called as : '

(A) Photoautotroph (B) Photoheterotroph

(C) Chemoautotroph - (D) Chemoheterotroph

T GETiidl S THEA HY iR 1 O a9 s SESirge ) o8 wEE 9 & S § o ¥,
3 FEA €

(A) BRI (B) R
©) wrsteE (D) HAR
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183. In an autoclave the sterilization is achieved at :
(A) 10 Ib/inch? and 121°C
(B) 15 lbsinch?and 121°C
(C) 101b/inch? and 221°C -
(D) - 15 Ib/inch? and 221°C
SSere H MO W< 8 @ -
(A) 10 Ib/inch? &k 121°C
(B) 15 Ibfinch? sk 121°C
(C) 10 Ib/inch? 3k 221°C .
(D) 15 Ib/inch? 3k 221°C

. 184. The bacteria used for large scale production of organic solvents like butanol and
acetone is : :
(A) Citrobactor
(B) Acinetobactor
(C) Propionibacterium .

(D) Clostridium _ .

e faemas S A 9 T & 98 ®R W e § 1 Sftar) &1 swEm g g
(A) TadeR

(B) UifrdEex

(C) Wfusifrafrfam

(D) wfffean

) 185. The following is an example of serum free medium :.
(A) MEM
(B) RPMI 1640
(C) CMRL 1066
(D) MCDB 110 .
frrafafed sim e Aream &1 SR §
(A) MEM
(B) RPMI 1640
(C) CMRL 1066
(D) MCDB 110

A-Set '~ NEUT-13—page~105 F-7




186.

187.

188.

The following method is used for disaggregation of tissue to obtain primary cells :
(A) Physical disruption

(B) Enzymatic digestion

(C) Treatment with chelating agents

(D) All of these

Fas 1 faege nafhs Rt wt i @ g e ey fFmam d .

(A) e fagror

(B) T e

(C) facifén =re gr fiman

(D) 2=+

The following property is shown by established cell line :

(A) No contact inhibition

(B) Altered chromosome number

(C) .Shorter doubling time

(D) All of these :

T iy o # Frefafaa o S d
(A) TF FAYH 7 B

(B) et o e

(C) =% 99g | A e

(D) 2 =it

The most common bioreactor used for large scale animal cell cuiture is :
(A) Continuously stirred tank reactor

(B) Horizontal bioreactor

(C) Packed bed reactor

(D) Compact loop bioreactor ‘

I T W WA HIen GarA & g fr srefierer o svdm g b

(A) FTER gfaa Zet et

(B) a&ftst st

(C) s = frumen

(D) - =TI Y IERTETR

‘F_7’
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189. The following is.not.a constityent of MS basal medium stock :.

(A) NaNO, S (B) KNO,
(C) NH,NO, : (D) KH,PO,
fraiareag MS eTenfE wrsam ©is 1 9eF 7878 - |
(A) NaNO, . . ... . .. (B) KNO,
(€) NH,NO,. (D) KH,PO,

190. The following is not an example of growth regulators used in plant tissue culture :

(A) Vitamins (B) Auxins

(C) Cytokinins Gl G s ‘ (D). Absmsuc acid |
TRY S T ﬁugwqﬁgﬁrwanmﬁm 7 ¥

(A) foftm (B) - SRR .
C) wEmEtm (D) et T

191. Haploid plahts are obtained from :

(A) Embryo culture (B) Ovule ctnltufé .
(C) Antherculture (D) Protoplastcutture
T[foa TR A I W A E .

(A) qgsma%h S | (B) TSI HaHT

(©) wmgas (D)”""2\"’3'7‘?W’“Pfq

192. Flavour savour is an example of transgenic :

(A) Potato (B) Brinjal
(C) Tomato " FE (D) Banana
TR A5t 1t qrsirelt a1 serm B
A s B) Fm
(C) == (D) en
P T —




193. PCR is a technique for DNA :
(A) detection ‘ (B) hybridization
(C) amplification (D) separation
9. W. 3R. (PCR) T d&+# &, &Y. T. T :
(A) T T - (B) Em
(C) wasH =t " (D) YR HI
194. Taq polymerase used in PCR is isolated from a bacterium which is :
(A) Salttolerant "(B) Thermophile
(C) Acid tolerant L : (D) Basophile
. . IR, &y 3% el Y T Siary Q Feeen s €, S R
(A) o weiter (fes) (B) st
(C) ufs wewiter (wfesy) (D) erfuemafia
195. The plasmids are capable of independent replication owing to the presence of :
" (A) origin of transfer . o (B) selectable marker |
_ (C) origin of replication (D) all of these
" eyt § e Rt w e Fre w5 Sefety @ s e #
(A) TIHRROT Y Ieaf oo (B) =orany fagw
(C) Whghe =1 safa (D) * wsft
196. PUC 8 plasmid is obtained from the following organism :
(A) P.putida: .. . (B) Ecoli
(C) A.tumefaciens s (D) Saccharomyces
PUC 8 Stampirht Y frer R A gt ;-
(A) . feer . 5 (B) FawrmE
(C) T TFHwrTE (D) @l
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197.

198.

Reverse transcriptase is an example of :
(A) RNA dependent DNA polymerase

-(B) DNA dependent DNA polymerase

(C) RNA dependent RNA polymerase
(D) DNA dependent RNA polymerase
fad sufrds S|Ew R ;.

(A) R T T YIRE €. WA T uleiest &

(B) €. . €. snunfia €. @ . U gfelRis =

(C) *R. TA. U 3nuifa AR TH. T Oiefis &
(D) <. . T 3fid oTR. T T Ueme &

Several nucleotides are added to the 3™-end of a linear DNA by ;.
(A) Taqpolymerase.

(B) Terminal transferase

(C) Polynucleotide transferase

(D) DNA polymerase

WL [T H3-MW aﬁam@@@mm%

(A) ¥ e (B) e grww
() ﬁvﬁqﬁa@m ;rmﬁa (D) ST T RS
199. Replicative form of M13 phageis a : | ’
(A) Double stranded DNA' (B) Single stranded DNA
(C) Circular DNA - (D) Linear DNA
M13 fasmo] =1 wfirfoes wrea S @ ;
(A) s @ . (B) HWHEI . T
(C) wF@R & . T (D) ®EdH T T
200. The blunt end of DNA can be converted into sticky end by the use of :
(A) Adaptor molecule ~ (B) Linker
(C) Homopolymer tailing (D) Allofthese
AETCH ﬁﬁﬁiﬁﬁvﬁﬁfaﬁﬁwaﬁmmwmi
(A) STTHRTS | (B) sErt®
(C) SmirdfeR e W (D) A=t
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(A) Simple microscope

BIOLOGY
151. Ultra-structure of cell is observed by :

(B)

Light microscope

(C) Phase contrast microscope (D) Electron microscope
HIYTHRT T - T 1 FRIET0T T3 §
(A) T Feaelt g (B) WIS YEHEN gNI
(C) e fomm gasweel gra (D) IR gEAsEl g
152. Who gave cell theory ?
(A) Avery and McLeod (B) Harshy and Chase
(C) Séhleiden and Schwann (D) Beadle and Tautum
Hfve fagr feed K ?
(A) Uit v AfFrs 3 (B) il wE A Y
(C) foree T vari 3 (D) foree wd 2o &
153. Endoskeleton of cell is :
(A) Cell wall - (B) Endoplasmic reticulum
(C) Cytoplasm (D) Mitochondria
FIfTRT T ST weTel A E ¢
(A) wrnfufa (B) st Siferent
(C) =i g9 (D) wrEEreifgan
154. Mitochondria were observed first by :
(A) Kolliker (B) Robert Brown
(C) Aftmann (D) Robert Hooke
Hehwom AErREa e 2 2 N |
(A) =T (B) =R wr=A
(C) st (D) TR TH
F—7 ﬁEUTﬁi3=—-page411'0' A-Set




155. The type of ribosomes, which are found in bacteria, chiaroplast and mitochondria is :

(A) 50s , - (B) 80s

(C) 30s o (D) 70s

Strarogeti, it skl gy AgSrnIvgan # YR Y et Tgae S AR
(A) 50s L (B) 80s |
(C) 30s . (D) 70s

156. Which organelle is called as suicide bag ?

(A) Centrosome ~ (B) Lysosome
- (C) Peroxisome (D) Mesosome
HI BIRTHM ST den weem & 2

(A) B v (B) wmEEEm

(C) Wi . (D) wEmH

157. DNA strands are joined by :

(A) Hydrogenbond (B) Oxygen bond

, (C) Carbon bond S (D) Nitrogen bond

| VT IR -

R (A) TESSHEY Y (B) ittt 5y & o
(C) ®EHEu | (D) oA WY o

, | 158. The homologous genes are separated at :-

(A) Anaphase-| S (B) Pachytene

(C) Diplatene S (D) Anaphase-Il

IR G ST ER €

(A) TTETERE- W (B) AW

©€) @ w (D) weEE-N R
ATSet T NeUT-13-pagetii  F7




159. White lions are getting extinct and can be protected by :

(A) Testcross (B) Reciprocal cross
(C) Back cross (D) Triple cross

T IR faga &1 @ ¥ oiR 3 wefam o wehd €

(A) R FHE g (B) uREafiw ¥ g/
(C) == w9 g (D) o wiE g1

160. Centrifugal developmeht of Xylem occurs in :

(A) Stem (B) Root
(C) Leaf : (D) Flower
TIT T ATTR T ﬁﬁﬁl‘v‘l AR

(A) ™ H B) we#
(C) vt # | (D) g #

161. Conjoint, collateral and open vascular bundies are found in :

(A) Dicotyledon stem (B) Monocotyledon stem
(C) Dicotyledon root (D) Monocotyledon root
T, FEUINE 991 G g3 G998 I8 IR 9K |
(A) fesloresh o & (B) uwmslterast aA
(C) et i & (D) SISt wg |

162. Plasmid is :
(A) Virus

(B) New type of organism

(C) Extrachromosomal genetic material of bacteria
(D) Genetic unit of bacteria

e ¥

(A) formmy

(B) A WHR & g

(C) ey 1 T[Tl e TR Tered

(D) Ty T SRR TS
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163. The instrument which is useful to sterile the glass wares and culture medlum is :

(A) Autoclave o (B) Incubator

(C) Dry-oven o (D) Freeze 7
FFH STH B B T ammﬁwquaﬁﬁﬁﬁmﬁﬁmm% 2
(A) st | (B) T

(C) W—aﬂaﬂ (D) W

¢ 164. The seeds of which of the foIIowmg were used for weighing by jewellers ? -

(A) Cajanus cajan (B) Lens culinaris
*  (C) Glycine max (D) Abrus precatorius
_mﬁammwﬁwwam q?
' (A) FNTT FATH . (B) &7 FgeRT %
(C) ' womsheT A (D) s fpaRaq &

165. All'the Iiv_ing organisms on the earth are called :
(A)- Biosphere
(B) Community
" {C) Biome
' . (D) Assocnatlon '
' geait W Y A |t Gﬁa HEA T
(A) Sredza
N ~(B) wHfe
(C) <M
(D) wEgmw

166. The osmotic pressure of pure water is :

® o | L B).1
(© 10 o | (B) 100
wo pag
© 10 : (D) 100




167. The end product of glycdlysis is :

(A) Pyruvic acid

- (C) Glyceraldehyde phosphate
TegEReATEE 1 3ifm S ®

(A) el s
(C) faaifceess wiehe

168. Bone forming cells are called :

(A) Chondrocytes
(C) Chondroblasts

T S oTeh BRIl B e §

(A) g
(C) =igree

(B)
©)

(D)

(B)
(D)

(B)

(D)

Citric acid

Phosphoglyceric acid

fafes sm
FIERIEERE s

Osteocytes

Osteoblasts

sfesiare
A=

169. In mammals, surface area of intestine is increased due to the presence of :

(A) Crypts of Lieberkuhn (B) Brunners gland
(C) Villi (D) Al of these
ecrenfcd § sif 1 e 1 e fret g ¥
(A) i st fereag (B)
C) faeme (D) wwi ¥
170. In mammals, sertoli cells are presentin: |
(A) Germinal epithelium of testis (B) Germinal epitheiium of ovary
(C) Medulla of kidney (D) Adrenal cortex
TAUET & Wit e a8 s ¥
(A) O Y S SN § (B) swETY™ F S I
{C) 9% & Aggen § - (D) i@amﬁmﬁ
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171. Diastole is :

(A) relaxation of atria ' (B)
(C) contraction of atria and ventricles (D)
ﬁm (ee) ¥

(A) et = fofas & (B)
(C) e en e o g (D)

172. HCl of gastric juice is secreted by :

(A) Chief cells ‘ (B)
©) Ox'yntic cells (D).
TR WHHCI Fef dwfam s § 2

(A) e e (B)

C) nfisifes PRl (D)

173. Obturator foramen occurs in::

(A) Pelvic girdle EEE (B)
(C) Pectoral girdle (D)“
TR A Ay

(A) safor Aen (B)
(ORESE- o (D).

relaxation of ventricles
both (A) and (B)

Frergt w1 fafae @
(A) = (B)

Goblet cells
Columnar cells

TIHR FIfTeRed

Skull
Vertebra

Ffe
bk

~ 174. The hormone which converts glucose to glycogen inside liver is produced in :

(A) Thymus ~ (B) Pancreas
| (C) Adrenal (D) Thyroid
T 8 ey Y T 3 AR ) T e o e e g d 2
(A) =g | | - B) sEwE '
(C) g - (D) arfaE
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175. Hormone Melatonin is secreted by :

(A) Pituitary . (B) Adrenal
(C) Thymus ’ (D) Pineal
A AemRfE FE Y efaa dm €

(A) frged (B) g

(C) o=md (D) dfEm

176. Scurvy is caused due to the deficiency of-the following vitamin :

(A) Vitamin A (B) Vitamin C
(C) Vitamin D (D) Vitamin K
@l fre fgafrm ft FH S FROU ST R

(A) faafm g | (B) foarfir =it

(C) faarfm & (D) faefa &

177. Cleavage in frog’s egg is of the following type :

(A) Meroblastic 4 (B) Holoblastic

(C) Heteroblastic (D) Diploblastic
,Heh B 310 # Fr R 1 fogem Aar §

(A) RS ~ (B) ohmfe®

(C) ‘=t (D) feAsenfes

178. Klinefelter's syndrome is a genetic defect in which the patient has three sex
chromosomes. Which of the following patterns best describes the typical patlent with
this disorder ? ~

(A) XXX . B) XYY

(C) XXY < | D) YYY

FeMgTReR fiem T mm%mﬁvﬁﬁmmwaﬁmmamw
w1 e forg @ aftfa dar d

(A) XXX | (B) XYY

C) XXY D) YYY
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179. The metaphase chromosome appears to be longitudinally divided into two identical

180.

181.

parts known as ;

(A) Sister chromosomes

(B) Sateliites

(C) Daughter chromosomes

(D) Sister chromatids ,

HTHS TORS T 37eed it & fanfoa g s e o wed €
(A) et g |

(B) ¥z

(C) IR oA

(D) e SRt

What is true of blood group B ?

(A) The person can form antibody B

(B) The person cannot form antibody B

(C) The person cannot be given blogd of O group
(D) The person can receive blood of AB group
BT O S fuanaas 2

(A) =afe i B wRReh o7 o §

(B) =afa # B witwedt i == wea

(C) =afea &1 O & TqE F1 & 7181 f&a s qepan

(D) =afem AB o TWE 1 T WIHR FT Tl ¥

Induction of mutation by X-rays was discovered by :

(A) Morgan (B) Hugo DeVries
(C) Muller (D) Luria

TFR GRT Safae 1 9o fe1 3 @

(A) =i | (B) & <refr

©) T’ (D) e
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182.

183.

184.

Main factor for population growth in Indiais :

(A) high birth-rate

(B) low death-rate of infants

(C) lack of education

(D) all of these

wRaE # e 3 F e wE
(A) dAfgs -

(B) forgped =Y gg-<X ° &t

(C) Tz =t %ol

(D) 3 @it

Urinary bladder is absent in :

(A) Amphibia (B) Reptiles
(C) Aves (D) Mammals
e et # srafier ¥ | o
(A) frmfear (B) w9
(C) Tusit (D) =g

Which is not the character of chordates ?
(A) Pharyngeal gill slits

(B) Dorsal nerve chord

(C) Notochord

(D) Diploblastic

o & i oot weror et ¥ 2

(A) T Fm fog

(B) g=dIa Afah T

(C) Tt

(D) fe=ireenfes
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185. Which among the following originated first 2

(A) Prokaryotic cell - (B) Eukaryotic cell
(C) Green algae (D) None of these
e 7 foraent scafe vl g 2

(A) vrhfefew ®ifimEm (B) yfwifes :firn

(C) = = . | (D) w 9§ =g &

186. Which of the following is not a vestigeal structure in man ?

(A) nictitating membrane (B) pinna

(C) caudal vertebrae (D) vermiform appendix
T | frer & @ el st w@we 78t ¥ 2

(A) fafrefen et (B) fo=m

(C) T=wIw * (D) ftre afcfi

187. In pearl oyester, pearl is formed by the secretion of :

(A) Shell (B) Mantle

. (C) Digestive gland o (D) None of these
YRR A AN e R Em AT

) (A) o= (B) Hvew
(C) e % | (D) ¥ & =K 7

188. Cancer causing agents are called :

(A) Allergens ; (B) Carcinogens
(C) Mutagens ; ' (D) Antigens
FH FRF Tt +! Fed © ¢
(A) TS (B) fHISH
(C) wrm | (D) ¥
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189. Plasmodium vivax causes :
(A) Benign Tertian Malaria
(C) Quartan Malaria
ANETH AEAFT A MR ¢
(A) w15 <RrEm waRkan
(C) ¥ara maRan

S

(B) Malignant Tertian Malaria
(D) Mild Malaria

(B) Aferdz =frem wafn
(D) wrzTE HATA

190. The stimulant present in tea, cocoa, and cola drinks is :

(A) Cocaine
(C) Caffeine

(B) - Tannin
(D) Astringent

Mg, B! 79 Fien 99 T F1 IUSRE IR SR

(A) =
(C) +wH

191. Where are the Kangaroos found ?
(A) Asia
(C) Africa
FHTE FHE I A E 2
(A) Tferm
(C) sTwisA

(B)

(D) 9™
(B) Australia
(D) South America

(B) eireferan
(D) <faror sl

192. Which of the following is not a contact poison ?

(A) DDT

(C) Endrin ,
Fret 3 v el fos 7@ ¥ 2
(A) S&a3

(C) A

(8) BHC

(D) Lead arsenate

B) =
(D) s e
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193. Which suffix is used in the name of family ?

(A) incae (B) aceae
(C) oidae (D) inae
HA D A9 B 3T T RITE TqT TR ? ‘
(A) s (B)
(C) =t (D) =

194. In the binomial system, the name of an organism consists of :
(A) A scientific and a common name
(B) Name of genus and species
(C) A name given by two scientists
(D) One name is latin and other common
Mg d @R F T aae
(A) T IF a9 T 9HRT A
(B) U 39T AL UF wfe A9 |
C) aafFRi g AR TH A
(D) Tk At I AT THY IH AH 9

195. Female reproductive organ of algae is called :

- (A) Carpel (B) Oospore

(C) Archegonium (D) Oozonium

YraTe 1 Tt A e ¥

(A) sfeq (B) Ffverie

(C) witurt (D) sisur
196. Cell wall of hyphae is made up of :

(A) Cutine . (B) Cellulose

(C) Pectose - (D) Chitin

(A) =g (B) g

(C) ¥ o (D) e
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197. Leaves of ferns are covered with :

(A) Ramenta ‘ (B) Spores
(C) Wax (D) Indusium
w4 =t afal Tt @t ¥

(A) =19 (B) sirsmmugstt @
(C) W= (D) R R

198. What is the meaning of suffix ‘sperm’ in Angiosperm and Gymnosperm ?
(A) Both produce motile sperms ‘ '
(B) Both produce nonmotile sperms
(C) Both produce seeds

(D) Both produce fruits
TS T SrrepaeS § wer dst’ o weers w2 2
(A) i nfaefier qa9] Sea= wd § | “
(B) < smifaeiter THY] S HA ¥

(C) =rl ofiwt Se9=1 %3 &

(D) I wer T FW

199. Horticulture is the cultivation of :

(A) Flowers | (B) Vegetables
(C) Fruits (D) Allof these
T i T Sl ol R

(A) T (B) dferdi =t
(C) e = (D) T =it #

200. Which is obtained from gymnosperm plant ?

(A) Cashewnut (B) Almond
(C) Chilgoza ‘ (D) Pistachio
SEICCEI R IDEC R0 R i 3

(A) e (B) e

(C) Tucirsm (D) fuwan
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OF ANSWERING QUESTIONS

(Please use Black ball-point Pen)
Method of Marking Answers :

<]

To answer a question, please darken one circle
out of the given four, in the OMR Answer Sheet
against that question.

Valuation Procedure :

There are four probable answers to a questxon
only one of them is correct. One mark will be
awarded for each correct answer. If more than
one circle are darkened for a question, it will
be presumed that the candidate does not know
the correct answer, hence, no mark shall be
awarded.

Cancellation or Change in Answer :

It will not be possible to change the marked
circle with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on OMR Answer Sheet.

Handing over of Answer Sheet to
Invigilator :

(i) Please ensure that all entries in the answer
sheet are filled up properly i.e. Name, Roll
No., Signatures, Questnon Booklet No. etc.

(i) CANDIDATES ARF PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

Care in Handling the Answer Sheet

While using answer sheet adequate care ﬁould
be taken not to tear or spot ue to folds:

wrinkles.
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